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#2 
 
Chemkostav 8.5.1987 
Problem No.10 
 
WGrasshoppers a7,a8,d3,e6,f8 
BGrasshoppers b1,c5,d8,h2,h4 

Set Play: 
1...Sg1~ 2. Se3 # 
1...Ghe5 (1...Se5) 2, Ga5 #  
1...Gg8   2.Gxg8 # 

Try: 
1.Gd4 + ? (Bd4+?) 
but 1...exd3 ! 
   
1.Ga5 + ?  
but 1...Gce5 ! 

Solution: 
1.Gf5 ! threat: 2.Ga5 #  
1...Gxf5 2.Se3 #  
1...Gc2  2.Qb3 #  
1...e3    2.Be5 #  
1...Be7 2.Gf7 #  
1...Se7 2.d6 #  
1...Gd4 2.Gg8 #  

 

 

 

 

 

 

#2          CIRCE 
 
Mat-Pat No.17, 1987 
Problem No.759 

Try: 
1. Kg7? [2. Qc3#, Qc6#, Qf5#, Qg4#] 
But: 1. ... e1~! 
   

Solution: 
1. Rh4! [2. Be4#] 
1. ... Bc6 2. Qxc6# (Bc8) 
1. ... Sc3 2. Qxc3# (Sb8) 
1. ... Sf5  2. Qxf5# (Sg8) 
1. ... Sg4 2. Qxg4# (Sg8) 
1. ... dxe1Q (Bc1) 2. Rf4# 
1. ... fxg6 (Bf1) 2. Be2#, Bxg2 (Pg7)#  
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r=6          BlackMaximummer 
begin black 
                  
position of unknown autor 

Ivan Jarolin 50  C 31.3.2004 
Problem No. Ba55 

  
Solution: 

1...Rgd2  
2.Rh7+ Kg8  
3.Se4   Rh2  
4.Se7+ Nxe7  
5.Sc3   Rxh7  
6.Sb1   Rh1= 

 

 

 

 

 

 

 

 

 

 

 

a)  #6       BlackMaximummer KoeKo 
b)s#6       BlackMaximummer KoeKo 

Problemesis No. 45, VI/2005, 
Problem No. F431 

 Solutions: 

a) #6 KoeKo BlackMaximummer 

1.Kd5-e5 ?  
1...Re4-d4  
2.Be2-c4 Rd4-d1  
3.Be1-b4 Rd1-d6  
4.Bc4-d5 Rd6-f6  
5.Bb4-c5 Rf6-b6  
6.Ke5-f4 # 
 
1...Re4-f4  
2.Be2-g4 Rf4-f1  
3.Be1-h4 Rf1-f6  
4.Bg4-f5  Rf6-d6 
5.Bh4-g5 Rd6-h6  
6.Ke5-d4 # 
but 
1...Ke3xe2 ! 

1.Be2-d1 !  
1...Re4-c4  
2.Be1-c3 Rc4-f4  
3.Bd1-c2 Rf4-b4  
4.Bc3-d2 Rb4-b1 
5.Bd2-c1 Rb1-b3  
6.Kd5-d4 # 
 
 
1...Re4-e6  
2.Kd5-d4 Ke3-f2  
3.Be1-c3 Re6-e1  
4.Kd4-d3 Re1-e4 
5.Bc3-d4 Kf2-e1  
6.Bd4-c3# 
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b) s#6 KoeKo BlackMaximummer 
 
1.Kd5-e5 ?  
1...Re4-d4  
2.Be2-c4 Rd4-d1 
3.Be1-b4 Rd1-d6  
4.Ke5-e4 Ke3-f4 
5.Bb4-c3 Rd6-d2  
6.Bc4-e2 Rd2-d5 # 
 
1...Re4-f4  
2.Be2-g4 Rf4-f1 
3.Be1-h4 Rf1-f6  
4.Ke5-e4 Ke3-d4 
5.Bh4-g3 Rf6-f2  
6.Bg4-e2 Rf2-f5 # 
but 
1...Ke3xe2 ! 

1.Be2-f1 !  
1...Re4-c4 (Re4-e6)  
2.Be1-f2 Rc4-c6 
3.Bf1-d3 + Ke3-d2  
4.Kd5-e4 Rc6-c1 
5.Bd3-b1 Rc1-g1  
6.Ke4-d3 Rg1-g3 # 
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h#2*          2 solutions 
 
Grasshoppers a2,a7,d1,d5,f3,f5,f6,h1,h5 
 
Sachove umenie 12  XII/1985 
Problem No.6935 
Supl. Ceskoslovensky sach 

  
Set Play: 
    1. ... Gf7+ 2. Gd5 Rxd5# 
    1. ... Rc5   2. Gd7 Gd8# 

Solutions: 
    1. Gxf3 Gg1  2. Kf5  Gf7# 

1. Gd7  Gf7+ 2. Kd6 Rd5# 

 

 

 

 

 

 

 

 

 

 

 

 

h#2         3 solutions 
 
Grasshoppers b1,g4 
Roses a8,c8,f2,f5,g8 
 
Sachova skladba No.9   VII/1986 
Problem No.539 

  
Solutions: 

  1. Qxe2 Roa4+ 2. Kd3   Bc2# 

  1. Qe4   Rog3   2. Roa3 Roa4# 

  1. b4     Gxb4   2. Roc4 Rog3# 
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h#2          2 solutions  
                 a)diagram 
                 b)Roc3<>Bc3 
 
Rose c3 
 
Problemesis No.28   8/2002 
Problem F96 

  
Solutions: 

a)diagram 
1. Se3   Roe4 2. Sf5 Rog5# 
1. Sd6+ Kc7   2. Sf7 Rog7# 

b)Roc3<>Bc3 
1. Sxe5 Sd8+ 2. Kd6 Bb4# 
1. Se3   Bb4   2. Sf5  Sd8#  

 

 

 

 

 

 

 

 

 

 

H#2,5          4 solutions 
Black Transmuting King 

Umenie 64 No.39   IX/2005 
Problem No.1676 

  
Solutions: 

1...c8=Q 2.Kh6 Qf8 + 3.Kh3 h8=R #  
1...h8=R  2.Kf6  Rf8 + 3.Ke6 c8=B #  
1...c8=B  2.Gg8 Be6   3.Kh6 hxg8=S #  
1...c8=G  2.Kh6 h8=Q + 3.Kc1 Gc3 #  
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h#4,5          3 solutions 
 
Grasshoppers e6,e7,f4,f5,g2 
 
Phenix No.109    7-8.2002 
Problem No.4109 

  
Solutions: 

1. ...    Kd2  
2. Gd6 Kd3 
3. Kd5 Gc6 
4. Gd7 Ge8 
5. Gc5 Pe4# 
 
1. ...     Kf2  
2. Gf6  Kf3 
3. Gg5 Gg6 
4. Gf7  Ge8 
5. Kf5  Pe4# 
 
1. ...     Gd2  
2. Gf6  Kf2 
3. Kf4  Gg5 
4. Ge5 Ge7 
5. Gg4 Pe3#  

 

 

 

 

 

 

h#4,5          a)diagram 
                    b)Ga2>e1 
                    c)Gb1>h7 
                    d)Se7>b7 
 
Grasshoppers a2,b1 
Rose d5 
 
Problemesis No.28   8.2002 
Problem F95 

  
Solutions: 

a)diagram 
1. ... Kb5  
2. Roe3 Kc6  
3. Rof1  Gg1  
4. Rof7  Kd7  
5. Gg8   Sg6# 
 
b)Ga2>e1 
1. ... Ka6  
2. Rob6 Gb7  
3. Ke8   Gb5 
4. Kd8   Kb7 
5. Ge8   Sc6# 

c)Gb1>h7 
1. ... Sf5  
2. Ge6   Ge4  
3. Rob4 Kb6 
4. Ke8   Kc7  
5. Rof8  Sd6# 

d)Se7>b7 
1. ... Gb8  
2. Roe7 Kb6  
3. Kf7    Kc7 
4. Gg8   Gh8  
5. Ke8   Sd6# 
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h#4           2 solutions 
 
Grasshopper e1 
 
Pat a Mat No. 38   X.2002 
Problem No.628 

  
Solutions: 

1. Qh2 Sd8  2. Kg5 Se6 3. Kh4 Ge7 4. Kh3 Sg5# 

1. Qh1 Kf2  2. Kg4 Se5 3. Kh3 Ge6 4. Kh2 Sg4# 

 

 

 

 

 

 

 

 

 

 

 

 

 

 h#5          a)diagram  
                 b)Nb1>e6 
                 c)Nb1>f7 
 
Nightrider b1 
Wasir c5,d2 
Pat a Mat No.38   X.2002 
Problem No.629 
1st commendation 
PAT A MAT 2002 - FAIRY  

Solutions: 

a)diagram 
1. Kb6 Wed5  

2. Ne7 Ka3  
3. Kb5 Wed3 
4. Kc4 Ka4  
5. Nc3 We3d4# 
b)Nb1>e6 
1. Kd6 Kb3  
2. Ke5 Ka3  
3. Kd4 Wed5+ 
4. Kc3 Wed4  
5. Nc2 We2d3# 
c)Nb1>f7 
1. Kd6 Wee2  
2. Ke5 Wed5+  
3. Ke4 We5+ 
4. Kd4 Wee3  
5. Nd3 We3e4# 
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h#5                   2 solutions 
                          a)diagram  
                          b)Gc2>d2  
Grasshoppers c2,h5 

Pat a Mat No.37   7.2002 
Problem No.527 
Reproduction: 
StrateGems 20,10.-12.2002 
Problem No.F0371  

  
Solutions: 

a)diagram 
1. Ka3  Kf5  
2. Qa2 Ke4  
3. Gd5 Kd4 
4. Gd3 Kc3  
5. Gb3 Sc4# 
 
1. Kc3 Kf5  
2. Qf1+ Ke4  
3. Kd2 Ge2  
4. Ke1 Ke3  
5. Gd1 Sd3# 

b)Gc2>d2 
1. Gf7  Kf5  
2. Gf4  Sf3  
3. Gb4 Ga5 
4. Qb5+ Ke4  
5. Kc4 Sd2# 
 
1. Qd5 Sg4  
2. Gc5 Gd6  
3. Qc6 Kf5 
4. Kc4 Gb6  
5. Kd5 Se3# 

 

 

h#4           2 solutions 
 
Grasshoppers e3,f3,g3 
Nightrider f8 
 
Die Schwalbe Heft 198   XII.2002 
Problem No.11716 

  
Solutions: 

1. Nd4 Gc5   2. Nb5 Gb7  3. Ga3 Be4 4. Ka4 Bc2# 

1. Kc2 Be4+ 2. Kd1  Gd5 3. Gd3 Gc3 4. Nc2 Bf3# 
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h#4,5           2 solutions 
Grasshoppers f7,g8 
Wasir c4 
 
Sachova skladba No.78   I/2003 
Problem No.6156 

  
Solutions: 

1. ...     Web4  
2. Kc3 Kd5  
3. Gc4 Ke4  
4. Rf2  Ke3  
5. Rc2 Web3# 

1. ...     Ge8  
2. Ke4 Gg6  
3. Gd5 Ke7 
4. Ke5 Wed4  
5. Rf5  Wee4#  

 

 

 

 

 

 

 

 

 

 

 

h#4,5  
 
Grasshoppers d7,e1 
Wasir b4 
 
Problemesis No.31   II.2003 
Problem No. F115 

  
Solution: 

1. ...     Web5 
2. Ga4 Wec5  
3. Kb4 Wec4  
4. Ka5 Kc5  
5. Ga6 Web4# 
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h#5            a)diagram  
                   b)Gh4>h5  
 
Grasshopper h4 
Moa c4, d3 
 
Problemesis No.31    II.2003 
Problem No. F116 

  
Solutions: 

a)diagram 
1. Mof2  Kc3  
2. Ke4    Kb2  
3. Kd3    Kc1 
4. Moe4 Kd1  
5. Gd4   Mob2# 
 
b)Gh4>h5 
1. Moe5 Kc3  
2. Ke4    Pd3  
3. Kd5    Kd2 
4. Kd4    Moa5  
5. Gd5    Mob3#  

 

 

 

 

 

 

 

 

 

h#4,5 
                    a)diagram 
                    b)Sf2>h7 
                    c)Qh4>h5 
                    d)Qh4>g2 
 
Grasshopper f3 
Problemkiste No.145   II.2003 
Problem No.5849 

  
Solutions: 

a)diagram 
1. ...      Kd3  
2. Kf4   Kd4  
3. Kg5  Ke5 
4. Kh6  Kf5  
5. Kh5  Sg4# 
b)Sf2>h7 
1. ...      Ke2  
2. Kf4   Gf5  
3. Kg3  Sf6 
4. Kh2  Kf3  
5. Kh3  Sg4# 
c)Qh4>h5 
1. ...      Gf1  
2. Kf5   Sd3  
3. Kg4  Se1 
4. Kh3  Kf4  
5. Kh4  Sg2# 
d)Qh4>g2 
1. ...      Sd3  
2. Kf6   Gf7  
3. Kg5  Se5 
4. Kh4  Kf4  
5. Qh3 Sg6# 
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h#4         3 solutions 
 
Grasshopper g2 
 
Umenie 64 No.28    III.2003 
Problem No. 1139 

  
Solutions: 

1. Re5 Kc4  2. Ke4 Gd5 3. Sg3 Gf7  4. Sf5  Sg5# 

1. Kg4 Pf3  2. Kh3  Ge4 3. Sg3 Ge1 4. Rh2 Sf4# 

1. Sg3 Kc4 2. Ke4  Pf4  3. Sf5  Gd2 4. Re3 Sg5# 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#3          4 solutions 
 
Grasshopper e5 
 
Pat a Mat No.40   IV.2003 
Problem No.857 

  
Solutions: 

1. Ge3  Ba2   2. Qd3  Rf5      3. Ke4 Bd5# 

1. Qe3  Be4   2. Kf4   Bf3      3. Gg3 Rf5# 

1. Kxg4 Ke8   2. Kf5  Bxe4+ 3. Ke6 Rc6# 

1. Kg2   Rc3   2. Kh1 Rg3     3. Gh2 Bxe4# 
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h#3,5  
                    a)diagram 
                    b)Se5>d3 
                    c)Se5>h6 
 
Grasshopper c1 
 
Pat a Mat No.40   IV.2003  
Problem No.858 

  
Solutions: 

a)diagram 
1. ... Pd3  2. Rf4     Gg5 3. Rf6 Pd4  4. Sf5 Pd5# 

b) Se5>d3 
1. ... Sf4+ 2. Ke5   Sd5 3. Rf4 Gc6  4. Rf5 Pd4#  

c)Se5>h6 
1. ... Kc6  2. Rc4+ Gc5 3. Rf4 Pd4  4. Rf6 Pd5# 

 

 

 

 

 

 

 

 

 

 

 

h#4,5*  
                      a)diagram 
                      b)Sg4>c7 
 
Grasshopper a3 
 
Die Schwalbe Heft 200   IV.2003 
Problem No.11851 

  
Solutions: 

a)diagram 
1. Se4 Ge3 2. Kf3 Ge5 3. Sg3 Gh2  4. Rg2 Se5# 

1. ...     Sf6 2. Re3+ Kd2 3. Rf3 Ke1 4. Se4 Pc3 
5. Ke3 Sd5# 

b)Sg4>c7 
1. Re3+ Kd2 2. Rf3 Ke1 3. Se4 Pc3 4. Ke3 Sd5# 

1. ...       Kd4 2. Rg2 Gd3 3. Se4 Gf5 4. Rg4 Gh3 
5. Sg3 Se6# 
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h#4,5          2 solutions 
 
Grasshopper h6 
 
Umenie 64 No.29   V.2003 
Problem No.1193 

  
Solutions: 

1. ... Ke5  
2. Rb7 Ge6  
3. Sd5 Gc4  
4. Rb5 Ga6  
5. Sb6 Sd3# 

1. ... Se2  
2. Sd5 Gd6  
3. Kc6 Gd4 
4. Sb6 Ga7  
5. Rb7 Sd4# 

 

 

 

 

 

 

 

 

 

 

 

h#5          3 solutions 
 
Grasshoppers b5, c1 
 
Problemkiste No.147   VI.2003 
Problem No.5933 

  
Solutions: 

1. Kd6 Kc4  
2. Ba5 Gc5  
3. Gd4 Ba3 
4. Gd7 Kd4  
5. Bc7 Gc8# 

1. Kd6 Gc4  
2. Bd4 Kb4  
3. Gb3 Ka5 
4. Gd5 Ge4 
5. Kc5 Ba3# 

1. Kf6 Gc4  
2. Gg6 Gc2  
3. Kg5 Gh7 
4. Bg7 Gf7  
5. Kh6 Bc1# 

 

 

 

 

 

 



CChheessss  pprroobblleemmss  --  FFaaiirryy  
 

JJaarroossllaavv  SSttuunn,,  SSnniinnaa,,  SSlloovvaakkiiaa  PPaaggee  1188  
 

 

h#3  
                 a)diagram 
                 b)Gb3>b2 
                 c)Gb3>a7 
                 d)Re8>d8 
 
Grasshoppers b3,b6 
 
Die Schwalbe Heft 201   VI.2003 
Problem No. 11914 

  
Solutions: 

a)diagram 
1. Kf3 Kf5   2. Gg3  Re2 3. Re3 Rf2# 

b)Gb3>b2 
1. Rf8 Rc7  2. Rf4   Rc3 3. Gd4 Re3# 

c)Gb3>a7 
1. Gc5 Kd7 2. Kd5 Re4 3. Re5 Rd4# 

d)Re8>d8 
1. Rd3 Rd7 2. Re3 Gf2  3. Gf3 Rd4#  

 

 

 

 

 

 

 

 

 

h#5          2 solutions 
 
Grasshoppers f8,h3 
Wasir a5 
 
Idee&Form No.79   VII.2003 
Problem No.1686 

  
Solutions: 

1. Kb4 Kd7  
2. Rc3 Gc8  
3. Ga3 Gc2 
4. Rb3 Kc6  
5. Gc3 Wea4# 

1. Kd4 Ke6  
2. Gb4 Gd7  
3. Rc4 Gd3 
4. Kc5 Kd7  
5. Gd4 Web5# 
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h#4          3 solutions 
 
Grasshopper a8 
 
Die Schwalbe Heft 202   VIII.2003 
Problem No. 11973 

  
Solutions: 

1. Rd4 Kb5  2. Kd5 Ka5 3. Kc5 Sd6 4. Sd5 Sb7# 

1. Ke4 Gf3  2. Sd5 Gc3 3. Rf3  Gg3 4. Sf4 Sd6# 

1. Rd5 Kc3 2. Rc5 Kd2  3. Sd5 Sh4 4. Kd4 Sf3# 

 

  

 

 

 

 

 

 

 

 

 

 

 

h#6 
                 a)diagram 
                 b)Nhc3>a3 
 
Nh=Nightriderhopper 
 
Rochade Europa 11/2003 
Problem No.1918 

  
Solutions: 

a)diagram 
1.Qe2 Nhg1 2.Ke5 Nhd7 
3.Kd4  Ka4   4.Kc3 Gd3 
5.Kb2  Gf1    6.Ka1 Kb3 # 

b)Nhc3>a3 
1.Ke5 Nhg6 2.Ke6 Kc5 
3.Kd7 Gb1   4.Kc8 Kc6 
5.Gc7 Kd6   6.Qb7 Ke7 # 
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h#4,5           2 solutions 
                     a)diagram 
                     b)Gd2>a2 
   
Die Schwalbe Heft 204   12/2003 
Problem No.12103 

  
Solutions: 

a)diagram 
1. ...    Gb4  
2.Ge6 Ge1 
3.Gf5  Gg3  
4.Se4 Pc4 
5.Sd6 Gf4 # 

1. ...    Gg2  
2.Sg4 Ke2 
3.Ke4 Pc3  
4.Se5 Gf6 
5.Gf4  Gf3 # 

b)Gd2>a2 
1. ...    Kf3  
2.Gd3 Gf6   
3.Kd4 Kf4  
4.Se4 Gf3 
5.Sc5 Pc3 # 

1. ...    Kd2  
2.Ge4 Gg1 
3.Kd4 Ge3 
4.Sd3 Ge6 
5.Sc5 Pc3 # 

 

 

 

 

h#4,5          4 solutions 
 
Wasir c4 
 
Pat a Mat No.43   12/2003 
Problem No.1134 

  
Solutions: 

1. ...    Wec5  
2.Kf5  Gc4 
3.Gf6  Kf3  
4.Re6 Gf7 
5.Ke5 Wed5 # 

1. ...    Kf3  
2.Gf4  Ka4 
3.Rd4 Kg5  
4.Rd5 Wed4 
5.Gd6 Wee4 # 

1. ...    Gc3  
2.Re3 Kg4 
3.Ke4 Wec5  
4.Gd4 Wed5 
4.Rd3 Wee5 # 

1. ...    Kg2  
2.Kf4  Gc3 
3.Gf5  Kf2  
4.Re5 Gf6 
5.Ke4 Wed4 # 
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h#5           2 solutions 
                 a)diagram 
                 b)Ga3>a1 
   
Pat a Mat No.43   12/2003 
Problem No.1136 

  
Solutions: 

a)diagram 
1.Kd5  Kd3  
2.Sd4  Ge5 
3.Ge6  Gc5  
4.Gd6  Ge7 
5.Sc6  Pe4 # 

1.Sg5  Gf6  
2.Kf5   Kd4 
3.Kf4   Gf3  
4.Gg3 Gh3 
5.Gg4 Pe3 # 

b)Ga3>a1 
1.Sf8  Gf2  
2.Gf6  Gd4 
3.Ge6 Kf3  
4.Kf5  Gg7 
5.Sg6 Pe4 # 

1.Sc5 Kf3  
2.Kd4 Ge5 
3.Gc4 Gb5  
4.Ge5 Kf4 
5.Gc3 Pe3 # 

 

 

 

 

h#6  

Moa c1 
 
Idee&form No.21   I.2004 
Problem No.1759 

  
Solution: 

1.Kc2 Mod3 2.Kc3 Moe1 3.Kd4 Kb3 
 
4.Kc5 Kc2    5.Kb4 Kb1   6.Ka3 Moc2 # 
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h#4           3 solutions 
                 CouscousCirce 
 
Wasir e4   
 
Sachova skladba No.82   I/2004 
Problem No.6823 

  
Solutions: 

1.Kd4    Bxf3(Gf1) 
2.Kd3    Ge2 
3.Gf4     Ge5 
4.Gd4    Be2 # 

1.Wee5  Ke2  
2.Ke4    Gf4 
3.Wef5  Gf6  
4.Pe5    Bxf3(Gf1) # 

1.Pe6    Ke2  
2.Gd1   Kd3 
3.Gd4   Gxe4(Wee8)  
4.Gd6   Ge7 # 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

h#4           2 solutions 
 
Phenix No.124   12.2003 
Problem No. 4488 

Reproduction: 
Phenix No.128   4.2004 
Problem No. 4603 

Solutions: 

1.Kxc4 Ka3 2.Qc5+ Ka4 3.Bd4 Gb3 4.Pd5 Pd3 # 

1.Qe7  Gd7 2.Ke5 Pd4+ 3.Ke6 Gcf7 4.Ge5 Pd5 # 
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h#4            a)diagram 
                   b)Gd6>b6 
                   c)Gg6>g5 
                   d)Gg6>c3 
 
G=Grasshoppers 
 
Feenschach No.150   1-3/2003 
Problem No.8878 

  
Solutions: 

a)diagram 
1.Ke3  Kf6   2.Kf4   Gg3 3.Qh5 Gg2 4.Qf3  Bd6 # 

b)Gd6>b6 
1.Ke2 Ga6   2.Qd2 Gf1  3.Ke3 Gf2  4.Qe2 Bc5 # 

c)Gg6>d5 
1.Kd3 Gd2   2.Ke3 Gd1 3.Qa6 Ke5 4.Qe2 Bg5 # 

d)Gg6>c3 
1.Qe6+ Kf4 2.Kd3 Gg3 3.Kd4 Gb3 4.Qc4  Bf6 # 

 

 

 

 

 

 

 

 

 

h#5           2 solutions 
 
Grasshoppers 
 
Feenschach No.150   1-3.2003  
Problem No.8879 

  
Solutions: 

1.Gd1    Ge1  
2.Gf1     Gc3  
3.Gf4     Gf6  
4.Gf5     Gd8  
5.Gd6    Pd4 # 

1.Kd5    Kf4  
2.Gd6   Pd4  
3.Gfc6  Gg5  
4.Gh4   Ke3  
5.Ghc4 Gd2 # 
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h#5          2 solutions 
 
Grasshoppers 
 
Feenshach No.150   1-3.2003  
Problem No.8880 

  
Solutions: 

1.Kd6    Gf7  
2.Gc6   Kd4  
3.Gb5   Pe4  
4.Gd5   Gc4  
5.Gbd7 Pe5 # 

1.Kf5    Kd4  
2.Gf6    Gd3  
3.Gg5   Kd5  
4.Gee5 Gd6  
5.Gg4   Pe4 # 

 

 

 

 

 

 

 

 

 

 

 

h#3  
                  a)diagram 
                  b)Ga1>h8 
                  c)Ga1<d2 
 
Grasshoppers  

Feenschach No.152   7-9.2003  
Problem No.9028 

  
Solutions: 

a)diagram  
1.Ke6 Kc6 2.Ge7 Rf5 3.Re5 Rf6 # 
 
b)Ga1>h8 
1.Ra4 Rb8 2.Ge6 Rf8 3.Re4 Ge8 # 
 
c)Ga1>d2 
1.Kf5 Kc4 2.Ke4 Rf5 3.Re5 Rf4 # 
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h#5           3 solutions 
 
Grasshoppers 
 
Feenschach No.152   7-9.2003 
Problem No. 9031 

  
Solutions: 

1.Sb5  Gc6  
2.Sb7  Gc8  
3.Kd6  Kd4  
4.Gd5  Pe4  
5.Gd7  Pe5 # 

1.Gf3  Ge4  
2.Kf6  Ge8  
3.Gf7  Kf4  
4.Sf5  Pe4  
5.Sg7 Pe5 # 

1.Gd5 Ge4  
2.Se6 Kd2  
3.Kd4 Gc4  
4.Sc5 Ge6  
5.Ge5 Pe3 # 

 

 

 

 

 

 

 

 

h#3,5                 BlackMaximummer  
position of J.Bazlov 
                           a)diagram 
                           b)Rd6>f8 
                           c)Rd6>a1 

  
Ivan Jarolin 50  C 31.3.2004 
Problem No. Bc18 

  
Solutions: 

a)diagram  
1... Sb4+ 2.Kb7 Bxd4 3.Ra6 Sxa6 4.Ka8 Be4# 

b)Rd6>f8  
1... Kxf8  2.Kb7 Sc5+ 3.Kc8 Bf5+ 4.Kd8 Ba5# 

c)Rd6>a1  
1... Sc1   2.Ra5 Bxa5 3.Kb5 Kd6   4.Kc4 Bd3# 
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h#10*        Sentinelles PionAdvers 
                   DoubleMaximummer 
No wK,No bK 
Neutral Ke7 BRg8  
(BR=BishopRock) 
   
Problemesis No.40   8.2004 
Problem No.F317 

  
Solution: 

1...                           nBRg1  
2.nBRa7                  nBRa1[+bPa7]  
3.nBRh8                  nBRh1  
4.nBRa8                  nKd8[+bPe7]  
5.e5                         nKc7  
6.a5                         nBRa6  
7.nKd6[+wPc7]       nBRc8[+bPa6]  
8.nKc5[+wPd6]       nKb6[+bPc5]  
9.nBRxc7                nKa7[+bPb6]  
10.nBRb8[+wPc7]  cxb8=Q #  

1.nBRg1                  nBRa7  
2.nBRa1[+wPa7]    nBRh8  
3.nBRh1                  nBRa8  
4.nKd6[+wPe7]      nKc7[+bPd6]  
5.nKb6[+wPc7]      nKc6[+bPb6]  
6.nKb5[+wPc6]      nKa6[+bPb5]  
7.d5                        nKb7[+bPa6] +  
8.nKxc6[+wPb7]    bxa8=BR  
9.a5                        nKb7[+bPc6]  
10.nKa6[+wPb7]    b8=S # 

 

 

 

 

 

h#3              2 solutions 
 
Black Transmuting King 
 
Problem Online, 4.12.2004 
Problem No. G0003 

  
Solutions: 

1.d4  f8=Q + 2.Ke5 Qf5 + 3.Kd6 c5 #  
 
1.e5  f8=Q + 2.Kh3 Qf3 + 3.Ke6 cxd5 #  
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h#8                     Sentinelles PionAdvers 
                            DoubleMaximummer 
 
Neutral Pieces 
 
Problemesis No.42   12/2004 
Problem No.F371 

  
Solution: 

1.nBa2[+wPe6]   nBc4[+bPa2]  
2.nBf1[+wPc4]    nBh3  
3.nBxe6[+wPh3] nBg8[+bPe6]  
4.nSf7[+wPe5]    nSh6[+bPf7]  
5.nSf5[+wPh6]    nBh7  
6.nSd4[+wPf5]    nSb3[+bPd4]  
7.nSc1[+wPb3]   nSd3  
8.exf5 +               nKd5[+bPe4] #  

 

 

 

 

 

 

 

 

 

 

 

 

h#5              2 solutions 
                     Sentinelles 
                     DoubleMaximummer 
 
Sachova skladba No.86    I/2005 
Problem No.7410 

  
Solutions: 

1.Kg4[+bPf3]  Ke6[+wPf7]  
2.Kh5[+bPg4] Kd7[+wPe6]  
3.Kg6[+bPh5] Ke8[+wPd7] 
4.Kh7[+bPg6] e7  
5.Kh8[+bPh7] f8=Q #  

1.Kg2[+bPf3]  Kg6[+wPf7] 
2.Kh3[+bPg2] Kh5[+wPg6]  
3.f2                  f8=R  
4.Kh2[+bPh3] Rxf2  
5.Kg3[+bPh2] Rf8[+wPf2] # 
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h#3            2 solutions 
BlackTransmutingKing  

Problem Online,  17.02.2005 
Problem No. G0006 

  
Solutions: 

1.c3    f8=Q + 2.Ke5 Qf6 +    3.Kh5  h8=R #  
 
1.Kg7 Kb1       2.Kf8  h8=Q + 3.Ka3  f8=B # 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#3           3 solutions 
TransmutingKings 
Lion b2  

Problem Online,   02.03.2005 
Problem No. G0009 

  
Solutions: 

1.LIg7 + Ka5       2.Bc3 + Kd8     3.Kg8    e8=R #  
 
1.LId4 + Kb4       2.Bb2    e8=LI 3.Bc3 + Kf8 #  
 
1.Kg8      e8=R + 2.Kg1    Kd2     3.LIg2   Re1 #  
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h#4           2 solutions 
                  a)diagram 
                  b) bKf8>g4 
Sentinelles 

Pat a Mat No.48   III.2005 
Problem No.333 

  
Solutions: 

a)diagram 
1.Ke7               Kc4[+wPc3]  
2.Kd7[+bPe7] Kd5[+wPc4]  
3.Kc7[+bPd7] Kd4[+wPd5]  
4.Kd6[+bPc7] c5 #  

1.Kf7                Kd4[+wPc3]  
2.Ke7[+bPf7]  Ke5[+wPd4]  
3.Kd7[+bPe7] Ke4[+wPe5]  
4.Ke6[+bPd7] d5 #  

b) bKf8-->g4 
1.Kf5[+bPg4]  Kd2[+wPc3]  
2.Ke5[+bPf5]  Ke3[+wPd2]  
3.Kd5[+bPe5] Ke2[+wPe3]  
4.Ke4[+bPd5] d3 #  
 
1.Kg5[+bPg4] Kd3[+wPc3]  
2.Kf5[+bPg5]  Ke2[+wPd3]  
3.Ke5[+bPf5]  Kf2[+wPe 2]  
4.Kf4[+bPe5]  e3 # 

 

 

 

 

 

H#3,5           3 solutions 
ParrainCirce  

Problemesis No.45   VI/2005 
Problem No. F425 

  
Solutions: 

 
1...                         Kf7  
2.Se2                    Bg7  
3.Kf4                     Kf6   
4.Sxg3                  Bh6 [+wSh2] #  

1...                         Kf6  
2.Sd3                    Bd4 +  
3.Kxd4                  Sxe4 [+wBb5]  
4.Kxe4 [+bRf4] + Bc6 [+wSf5] #  
 
1...                        Sxe4 
2.Kd3 [+bRd4]     Bxd4 
3.Kxd4 [+bRd5]   Sd2 [+wBc2]  
4.Ke5                    Sf3 # 
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H#4*  
ParrainCirce 

Problemesis No.45   VI/2005, 
Problem No. F426 

  
Solution: 

1...                       Bxe7  
2.Sb4 [+bBd5]    Bxb4  
3.Be4 [+bSc3]    Kd6  
4.Kd4                   Bc5 #  

1.Kd4                   Bc5 +  
2.Kxc5                 Sxc6 [+wBa6]  
3.Bd6 [+bSb5] + Kc8  
4.Kxc6                 Bb7 [+wSd7] #  

 

 

 

 

 

 

 

 

 

 

 

 

H#4           2 solutions 
ParrainCirce 

Problemesis No.45   VI/2005, 
Problem No. F427 

  
Solutions: 
 
1.Kd5                   Kxf6  
2.Bd1 [+bSd4]    Bxd1  
3.Sc6 [+bBc3] + Kf5  
4.Bd4                   Bb3 #  
 
1.Se8                   Kf5  
2.Bxe4 +              Kxe4 [+wSd3]  
3.Sc7 [+bBc3]    Bb1  
4.Sb5                   Ba2 #  
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H#4           2 solutions 
ParrainCirce 

Problemesis No. 45   VI/2005,  
Problem No. F428 

  
Solutions: 

1.Kd1                Kxd5  
2.d2 [+bPd4]    Kc5  
3.Kxe2              Bd3 [+wPd1] +  
4.Kxd3              Kb4 [+wBc2] #  
 
1.dxe4               Kd6 [+wBd4]  
2.dxe2               Kd5 [+wPe1]  
3.Kd3                 Bxe3  
4.Kxe3 [+bRf3] Kc4 [+wBd2] # 

 

 

 

 

 

 

 

 

 

 

 

 

H#4           3 solutions 
ParrainCirce 

Problemesis No. 45   VI/2005  
Problem No. F429 

  
Solutions: 

1.Qe4                  Kxd6  
2.Qxc2 [+bPb4] Kd5 [+wPc1]  
3.b3                     Bc7  
4.d3                     Ba5 #  
 
1.Qxe5 +            Kd7 [+wBd5]  
2.d3                    Kc7  
3.Kd4                  cxd3  
4.Kxd5 [+bPd4] Kb6 [+wBc4] #  
 
1.d5                    Bf4  
2.d3                    cxd3  
3.Kd4 [+bPe4]   Be3 +  
4.Ke5                  d4 #  
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H#4           2 solutions 
ParrainCirce  

Problemesis No. 45   VI/2005, 
Problem No. F430 

  
Solutions: 

1.Kb3                   Bxd3  
2.Ra7 [+bPa3]    Kxd5  
3.Ka4 [+bPc6] + Kc4  
4.Ra5                   Bc2 #  
 
1.Ra7                   Kxd5  
2.Kb1 [+bPc4]    Kxc4  
3.Ra4 [+bPc1=bB] + Kb3  
4.Ra1                   Bxd3 # 

 

 

 

 

 

   
 

 

 

 

 

 

 

H#15          Sentinelles Pion Advers 
                    DoubleMaximummer  

  
Neutral Kh1, BRg8 
BR=BishopRock 

Phenix No.139   IV/2005 
Problem No. 4890 

  
Solution: 

1.nBRg8-g1                 nBRg1-a7  
2.nBRa7-a1[+wPa7]   nBRa1-g7  
3.nBRg7-g1[+wPg7]   nBRg1-b6  
4.nBRb6-b1[+wPb6]   nBRb1-g6  
5.nBRg6-g1[+wPg6]   nBRg1-c5  
6.nBRc5-f8[+wPc5]    nBRf8-f1  
7.nBRf1-a6                  nBRa6-a1[+bPa6]  
8.nBRa1xg7                 nKh1-g2  
9.nKg2-f1[+wPg2]       g2-g4  
10.nKf1-e2                  nKe2-f3[+bPe2]  
11.nKf3-g2[+wPf3]     nKg2-h3[+bPg2]  
12.nBRg7-f8[+wPg7]  nBRf8-f4  
13.nBRf4-b8[+wPf4]   a7xb8=BR  
14.nKh3-h4[+wPh3]   nKh4-g5[+bPh4] +  
15.nKg5-h6                 nKh6-h5[+bPh6] #  
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h#13                KoeKo 
                        DoubleMaximummer 
                         a)diagram 
                         b)Kg5>c5 
   
Problemesis No.40   VIII/2004 
Problem No. F314 

  
Solutions: 

a)diagram 
  1.Ge6-e2 Gb6-f2  
  2.Ga6-f1  Gf6xf1 
  3.Ge2-e4 Gh6-f4  
  4.Ge4-h7 Gd6-g3  
  5.Gg6-b6 Gf2-f5  
  6.Gb6-f2  Gg3-d3 
  7.Gh7-e4 Gf1-c4  
  8.Gc6-f3  Gc4-e2  
  9.Gf2-d4  Gf4-h6  
10.Gf3-f6   Gh6-e6 
11.Gd4-g7 Ge2-c4  
12.Gg7-g4 Gc4-f7  
13.Gg4-d4 Gf7-d5 # 

b)bKg5>c5 
  1.Ge6-e2 Gh6-d2  
  2.Ga6-f1  Gd6-d1 
  3.Gf1-f7   Gb6-d4  
  4.Gf7-h5  Gf6-c3  
  5.Gh5-b5 Gd2-d5  
  6.Ge2-a6 Gc3-f3 
  7.Gg6-b6 Gd1-g4  
  8.Ga6-c4 Gf3*c6  
  9.Gc4-a6 Gd4-h4  
10.Gb6-d4 Gg4-c4 
11.Ga6-d6 Gc6-a4  
12.Gd6-b4 Gd5-b3  
13.Gb5-d3 Ga4-c2 #  

 

 

h#9            KoeKo 
                   DoubleMaximummer 
 
Problemesis No.40   VIII/2004 
Problem No. F315 

  
Solution: 

1.Ga3-c5    Gh3-f1  
2.Gc5-f2     Gf1-c4 
3.Gg3-e1 + Kb4-a4  
4.Ge1-b4    Gb3-d5 +  
5.Kg2-g1    Gd5-g2  
6.Gb4-d2    Gc4-e2 
7.Gc3-e1    Gd3-f1  
8.Gd2-f4    Gg2-e4  
9.Ge3-g5   Ge4xe1 # 
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h#6          4 solutions 
                 KoeKo 
                 WhiteMaximummer 
 
NoWhiteKing 
Grasshoppers 
 
Pat a Mat No.47   12/2004, 
Problem No.456 

  
Solutions: 

1.Kd3-e3 Gc1-f4  
2.Ke3-f3  Gd1-g4  
3.Kf3-e3  Ge1-e4  
4.Ke3-f3  Gg3-e5  
5.Kf3-g2  Gh4-e1  
6.Kg2-h3 Gf2-f5 #  

1.Kd3-d2 Gf2-c2  
2.Kd2-d3 Gg3-c3  
3.Kd3-d4 Gh4-c4  
4.Kd4-d5 Gd1-d6  
5.Kd5-d4 Ge1-b4 +  
6.Kd4-d3 Gd6-a3 #  

1.Kd3-e2 Gd1-f3  
2.Ke2-d2 Gf2-c2  
3.Kd2-d3 Gf3-c3  
4.Kd3-d4 Gh4-c4  
5.Kd4-d5 Gg3-b3 +  
6.Kd5-d4 Ge1-b4 #  

1.Kd3-c2 Gf2-b2  
2.Kc2xd1 Gh4-f2  
3.Kd1-d2 Ge1-b1  
4.Kd2-c2 Gc1-a3  
5.Kc2-c3 Gg3-b3 +  
6.Kc3-c4 Gf2-a2 # 

 

 

h#29          2 solutions   DUPLEX 
                    KoeKo 
                    PWC  
                    DoubleMaximummer 
 
Die Schwalbe Heft 210   X/2004 
Problem No.12502 

  
Solutions: 

1.Rg5 Rf4 2.Rc5 Ke3 3.Rg5 Rf6  
4.Re5 Rd6 5.Re7 Rf6 6.Re4 Kf4  
7.Re7 Rd6 8.Re3 Rd2 9.Re5 Rd6  
10.Rg5 Rh6 11.Rg7 Rf6 12.Rg3 Ke5  
13.Ra3 Rf4 14.Rg3 Rf2 15.Re3 Rc2  
16.Kc1 Rf2 17.Rg3 Rf6 18.Rg7 Rd6  
19.Rc7 Rd1 20.Kd2 Kd6 21.Rc5 Kxc5 [+bRd6]  
22.Rd4 Kxd4 [+bRc5] 23.Re5 Kc3 + 24.Kc1 Rd6  
25.Rc5 Rd1 26.Kb2 + Kb4 27.Rc1 Ka3 +  
28.Ka2 Rxc1 [+bRd1] 29.Kb1 Ka2 #  
 
1.Re7 Rd6 2.Re3 Kc5 3.Re7 Rf6  
4.Re5 Rf4 5.Rg5 Rf6 6.Rd5 Kd6  
7.Rg5 Rf4 8.Rc5 Rb4 9.Re5 Rf4  
10.Re7 Rf8 11.Rg7 Rf6 12.Rc7 Ke5  
13.Rc1 Rd6 14.Rc7 Rb6 15.Rc5 Rb3  
16.Ka3 Rb6 17.Rc7 Rf6 18.Rg7 Rf4  
19.Rg3 Ra4 20.Kb4 Kf4 21.Re3 Kxe3 [+bRf4]  
22.Rd4 Kxd4 [+bRe3] 23.Re5 Kc3 + 24.Ka3 Rf4  
25.Re3 Ra4 26.Kb2 + Kd2 27.Ra3 Kc1 +  
28.Kb1 Rxa3 [+bRa4] 29.Ka2 Kb1 #  

1.Rf8 Re7 2.Rd8 Re3 3.Rd5 Ra3  
4.Ke5 Rc3 5.Rd2 + Re3 6.Rf2 Rg3  
7.Rf6 Ra3 8.Rf4 Rg3 9.Rf2 Re3  
10.Rc2 Kc1 11.Rf2 Rg3 12.Rf6 Rg7  
13.Rd6 Rc7 14.Rd1 Kd2 15.Kd6 Rc5  
16.Kxc5 [+bRd6] Rd4 17.Kxd4 [+bRc5] Re5  
18.Kc3 + Kc1 19.Rd6 Rc5 20.Rd1 Kb2 +  
21.Kb4 Rc1 22.Ka3 + Ka2 23.Rd2 + Kb1  
24.Ra2 Ka1 25.Rd2 Rc3 26.Rd4 Rc5  
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27.Ra4 Ra5 28.Kb2 + Rxa4 [+wRa5]  
29.Ka3 Kb2 # 
 
1.Rh6 Rg5 2.Rh4 Rc5 3.Re4 Rc1  
4.Ke5 Rc3 5.Rb4 + Rc5 6.Rb6 Rc7  
7.Rf6 Rc1 8.Rd6 Rc7 9.Rb6 Rc5  
10.Rb3 Ka3 11.Rb6 Rc7 12.Rf6 Rg7  
13.Rf4 Rg3 14.Ra4 Kb4 15.Kf4 Re3  
16.Kxe3 [+bRf4] Rd4 17.Kxd4 [+bRe3] Re5  
18.Kc3 + Ka3 19.Rf4 Re3 20.Ra4 Kb2 +  
21.Kd2 Ra3 22.Kc1 + Kb1 23.Rb4 + Ka2  
24.Rb1 Ka1 25.Rb4 Rc3 26.Rd4 Re3  
27.Rd1 Re1 28.Kb2 + Rxd1 [+wRe1]  
29.Kc1 Kb2 #  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

 

 

h#6           3 solutions 
                  KoeKo 
                  WhiteMaximummer 
 
Problem Online   4.12.2004 
Problem No.G0004 

  
Solutions: 

1.Sb5  Ga6  2.Sc3   Ba3  
3.Qc4 Gd3  4.Ke4   Gf5 
5.Ke3  Bc1  6.Qe4  Gf4 # 

1.Qd1 Gc2  2.Qg4  Gg6  
3.Kf4   Gg5  4.Qf5   Ge3  
5.Sb5  Bd2  6.Sd4   Gg5 #  
 
1.Qa4 Gf2   2.Sd1   Be1  
3.Se3  Ba5  4.Qg4  Be1  
5.Kf4   Gh5  6.Kg3  Gh4 #  
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h#5                AlphabeticChess 
                       KoeKo 
                       PWC 
                       a)diagram 
                       b)Sb8>a7 
                       c)Bc6>e6 
                       d)Bc6>d7 

Grasshoppers 
  
Problemesis No.42   12/2004 
Problem No.F373 

 Solutions: 

a)diagram 
1.Sd7 Gd5  
2.Kxc6 [+wBd6] Gc7  
3.Kb7 Gxe5 [+bQc7]  
4.Kc8 Gf5 + 
5.Kd8 Be7 #  

b) bSb8>a7 
1.Sb5 Gb4 +  
2.Kd7 Gb6 
3.Sd4 Gxd4 [+bSb6]  
4.Sd5 Gc7 +  
5.Ke6 Bd7 #  

c) wBc6>e6 
1.Sc6 Gd5  
2.Sd4 Gxe5 [+bQc5]  
3.Qc7 Gf5  
4.Qe7 Gg5  
5.Sd4xe6 [+wBd4] Bd4-e5 #  

d) wBc6>d7 
1.Sc6 Ge7  
2.Sd4 Gf5  
3.Sxf5 [+wGd4] Gf6  
4.Kd5 Be6 +  
5.Ke4 Bd5 #  

 

h#7*             KoeKo 
                      WhiteMaximummer  

Grasshopper a7 

Suom en Tehtäväniekat 1/2005    
7.2.2005 
Problem No.2795 

  
Solution: 

1...        Ke7  
2.Se6   Kd6  
3.Sf6    Ke5  
4.Sd4   Ge3  
5.Sf5    Gh3 +  
6.Kh4   Ge6  
7.Kg5   Bf4 #  

1.Sc6   Ke6  
2.Sf6    Kf5  
3.Se4   Kg4 +  
4.Kh4   Bb8 
5.Sd4   Ge3  
6.Sf5 + Kh5  
7.Sd2   Bg3 # 
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a)diagram     h#4,5**  
b)Ba3>b1     h#5,5** 
                                   KoeKo 
                                   PWC 
                                   WhiteMaximummer 

Grasshoppers 

Probleemblad No.2   III-IV/2005 
Problem No. F 483 

  
Solutions: 

a) diagram 
h#4,5 **Set Play h#4 

1.Qd5                   Bd6  
2.Sb5                    Gc7  
3.Sxd6 [+wBb5]   Ga4  
4.Ke6                    Bd7 #  

1.Sd5                    Bxc5 [+bQa3]  
2.Ke5                    Gf6  
3.Qxc5 [+wBa3]  Gb6  
4.Qd4                   Bd6 #  

1...                        Bxc5 [+bQa3]  
2.Sd5                   Ba7 
3.Qb4                  Bd4  
4.Qd6                  Ba7  
5.Ke5                   Bd4 #  

b)wBa3>b1  
h#5,5 ** Set Play h#5 

1.Qc4                   Be4  
2.Qxc6 [+wGc4] Gxc7 [+bSc4]  
3.Kxe4 [+wBf5]   Bc8  
4.Se5                   Gf6  
5.Qd5                   Bf5 #  

1.Qxc6 [+wGc5] Be4  
2.Kxe4 [+wBf5]   Bc8  
3.Kd5                   Gc2  
4.Sb5                   Gc7  
5.Sd6                   Be6 # 

1...                       Be4  
2.Kf4                   Gf3  
3.Kxe4 [+wBf4]  Gb3  
4.Ke3                  Gc6  
5.Sd5                  Bb8  
6.Kd4                  Be5 #  
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H#21*                Koeko 
                            PWC 
                            DoubleMaximummer 

Phénix No.135   12.2004 
Problem No.4806 

  
Solution: 

 
1...Ra7                           2.Rg8 Rh7 +  
3.Rg1 Kg2                     4.Kg7 Kf1  
5.Kh8 Rh1                     6.Rxh1 [+wRg1] Rg8  
7.Kg7 Kg2                     8.Rf1 Kxf1 [+bRg2]  
9.Re2 Kxe2 [+bRf1]   10.Rf5 exf5 [+bRe4]  
11.Rg4 Kd3                12.Re4 Kxe4 [+bRd3]  
13.Rf3 Kd5                 14.Rc3 Ke6  
15.Re3 + Kd5             16.Re6 Kxe6 [+bRd5]  
17.Rd7 Rc8                18.Rf7 Rc3  
19.Rxf5 [+wPf7] Re3 20.Rf2 Rg3 + 
21.Kf8 Rg8 #  

1.Ra2 Rg1                      2.Rh2 + Rg8  
3.Kg7 Kg2                      4.Kf8 Kh1 
5.Rh8 Rxh8 [+bRg8]     6.Rg1 Kg2  
7.Kg7 Rh6                      8.Kxh6 [+wRg7] Rg5  
9.Kxg5 [+wRh6] Rh4   10.Kxh4 [+wRg5] Rc5  
11.Kg3 + Kh3               12.Kh4 Rh5 + 
13.Kg5 Kg2                  14.Kf4 Rc5  
15.Ke3 Rf5                   16.d3 Rd5 
17.Kd2 Rxd3 [+bPd5] 18.dxe4 [+wPd5] Kf1  
19.Ke1 + Kg2              20.exd3 [+wRe4] Re2 
21.dxe2 [+wRd3] Rd1 # 

 

 

 

 

 

H##5           2 solutions 
                     KoeKo 

Neutral p.:nRb7, nBb5, nBb8 

Problem Online    21.10.2005 
Problem No.G0024 

  
Solutions: 

1.nBa7  Kb4  
2.nBe2 nBf2  
3.nBd3 nBe1 +  
4.Kc2   nBf1 
5.Kb3 + Kc4 ##  

1.nBc7 nBd7  
2.nRb3 nRe3  
3.Ke2   nRe8  
4.nBb5 nBa5  
5.nBa6   Kd3 ## 
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H#3            Circe Parrain 
                    a)diagram 
                    b)Pe3>h5 
                    c)Bb1>h1  

Problem Online   25.9.2005 
Problem No. G0020 

  
Solutions: 

a)diagram 
1.Kg5                exf4 +  
2.Kh6 [+bPg5] Bg6  
3.gxf4               Kxf6 [+wPg5] #  

b) wPe3>h5 
1.Kh4               Bg6  
2.Rxg6             Kf5 [+wBh6]  
3.Kxh5             Bg5 [+wPg4] #  

c) wBb1>h1 
1.Kh4               Bf3  
2.fxe3              Bg4 [+wPf4]  
3.Rxf4             Kxf4 [+wPg3 

 

 

 

 

  

 

 

 

 

H#3           ChameleonCirce  
                   Madrasi 
                   a) diagram          1 sol. 
                   b) wBc5>g5        2 sol. 
 
JT "M.Grushko - 50" C 1.1.2006 
3rd honourable mention  

  
Solutions: 

a) diagram 

1.Rc6  Bd5 2.Rxc5 [+wRa1]  Ra6   3.Rxd5 [+wRh1] 
Rh5 #  

b) wBc5>g5    

1.Rd2  Bg2 2.Rxg2 [+wRh1] Rh6    3.Rxg5 [+wRa1] 
Ra5 #  

1.Rg6  Ke2 2.Rxg5 [+wRa1] Ra5 + 3.Kxe4 [+wRh1] 
Rh4 # 
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h#5*               Chameleon Chess 
                        DoubleMaximummer 
                        a)diagram 
                        b)nrPe7>c2 

No wK, bK  
Neutral royal pawn nrPe7 

Problem Online    9.7.2006 
Problem No. G0035 

  
Solutions: 

a)diagram  

1...              h8=Q  
2.nrPe6      Qa1=S  
3.f1=Q       Sb3=B +  
4.Qc4=S    Bd1=R  
5.Sd6=B     Rxd6=Q #  

1.nrPe5      h8=Q +  
2.nrPe4      Qa1=S  
3.f1=B        Sc2=B +  
4.Bd3=R     Ba4=R +  
5.Rd4=Q + Rxd4=Q #  

b) nrPe7>c2 

1...              nrPc4  
2.f1=R        h8=S  
3.Rf8=Q     Sg6=B  
4.Qa3=S + nrPc5  
5.Sc2=B     Bxc2=R #  

1.f1=Q       nrPc3  
2.Qa6=S    h8=S  
3.Sb4=B + nrPcxb4  
4.nrPb3      Sg6=B  
5.nrPb2      Bb1=R #  
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Help stalemate and 
help double stalemate 
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h=2,5           3 solutions  
                     KoeKo 
   
Grasshoppers b4, e4 
Lion d4 
 
Sachova skladba No.82   I/2004 
Problem No.6825 

  
Solutions: 

1. ... Kf3 2.Pg4 Lixg4 3.Ga4 Lixa4 = 
1. ... Kf2 2.Gc4 Lif6    3.Gf1 Lixf1 = 
1. ... Lif2 2.Kf6 Kd3    3.Gc2 Lixc2 = 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

h==4           3 solutions 
                    Sentinelles  

Neutral Bb8 
NoWhiteKing, NoBlackKing 

Problemesis 40   VIII/2004 
Problem No. F316 

  
Solutions: 

1.nBa7               nBb8[+wPa7]  
2.nBf4                a8=B  
3.nBg3[+bPf4]  Bg2  
4.fxg3                Bh1[+wPg2] ==  

1.nBg3               nBb8[+wPg3]  
2.nBf4                nBh6[+wPf4]  
3.nBg5[+bPh6] fxg5  
4.hxg5               g4 ==  

1.nBf4               nBb8[+wPf4]  
2.nBe5              nBg7[+wPe5]  
3.nBf6[+bPg7] exf6  
4.gxf6               f5 ==  
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h==6            Circe 
                     SentinellesPionAdvers 

NoWhiteKing  
 
Sachova skladba No.85   X/2004, 
Problem No.7296 

  
Solution: 

1.Kh4[+wPg4] g5  
2.Kg4[+wPh4] h5  
3.Kxg5 [+wPg2][+wPg4] h6  
4.Kg6[+wPg5] h7  
5.Kg7[+wPg6] h8=B +  
6.Kg8[+wPg7] g3 ==  

 

 

 

 

 

 

 

 

 

 

 

 

 

h=3,5           2 solutions 
BlackTransmutingKing  

Problem Online    02.03.2005 
Problem No. G0010  

  
Solutions: 

1...      f8=Q +  
2.Ke5 h8=B +  
3.Kc7 Bxd4  
4.Kd7 Be5 =  
 
1...      f8=S 
2.Kg7 h8=Q +  
3.Kg5 Qxd4  
4.Kh6 Qe5 =  
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H==4          3 solutions 
DUPLEX 
                   Sentinelles 

Neutral Ba1 

Phenix No.139   IV/2005 
Problem No. 4884 

  
Solutions:  

1.nBd4               nBh8[+wPd4]  
2.nBe5               nBc7[+wPe5]  
3.nBd6[+bPc7] exd6  
4.cxd6               d5 ==  
 
1.nBc3               nBh8[+wPc3]  
2.nBd4               nBb6[+wPd4]  
3.nBc5[+bPb6] dxc5  
4.bxc5               c4 ==  
 
1.nBb2               nBh8[+wPb2]  
2.nBc3               nBa5[+wPc3]  
3.nBb4[+bPa5] cxb4  
4.axb4               b3 ==  

 
1.nBg7               nBa1[+bPg7]  
2.nBf6                nBh4[+bPf6]  
3.nBg5[+wPh4] fxg5  
4.hxg5               g6 ==  
 
1.nBf6                nBa1[+bPf6]  
2.nBe5               nBg3[+bPe5]  
3.nBf4[+wPg3]  exf4  
4.gxf4                 f5 ==  
 
1.nBe5               nBa1[+bPe5]  
2.nBd4               nBf2[+bPd4]  
3.nBe3[+wPf2]  dxe3  
4.fxe3                e4 ==  

 

h==32            2 solutions. KoeKo, PWC 
                       DoubleMaximummer  

Umenie 64 No.38   VI/2005, 
Problem No. 1637 

 Solutions: 

1.Rxh1 [+wRh2] Rg2      2.Rh3  Rg4  
3.Rh5      Rg6                  4.Rh7+ Rg7  
5.Rh8      Rc7 +               6.Kxc7 [+wRb8] Rg8  
7.Kb6      Kb7                   8.Ka7 Ka6  
9.Kb6      Kb5                 10.Kc5 Kc6  
11.Kd6    Kd7                 12.Ke7 Ke6  
13.Kf8     Rg7                 14.Rh6 Rg5  
15.Rh4    Rd5                 16.Rc4 Rf5  
17.Rg4    Rh5                 18.Rg8 Rd5  
19.Ke7 + Rd8 +             20.Kxd8 [+wRe7] Rh7  
21.Rg6    Rc7                 22.Kxc7 [+wRd8] Rb8  
23.Kd6 + Kd5                 24.Ke5 Ke4  
25.Kd4    Kd3                 26.Ke3 Ke2  
27.Kf2     Kf1                  28.Kg1 Kf2  
29.Rg3 + Kxg3 [+bRf2] 30.Rf4  Kh2  
31.Kh1    Kg1                 32.Rf1 + Kh2 ==  
 
1.Rg2      Rf1                    2.Re2 Rd1  
3.Rc2      Rb1 +               4.Rb2  Ra1  
5.Rb6 +   Kxb6 [+bRa7] 6.Ra2  Kb6-c7  
7.Kc8      Kb8                  8.Ra8 + Ka7  
9.Rb8      Ra6                10.Rb5  Rc6  
11.Rd5    Ra6                12.Ra5  Kb8  
13.Rxa6 [+wRa5] Kc7  14.Rd6 + Kxd6 [+bRc7]  
15.Re7    Re5                16.Rb7  Rc5 +  
17.Rb4    Ra5                18.Rb8  Re5  
19.Kd7 + Re8 +            20.Kxe8 [+wRd7] Ra7  
21.Rb6    Rf7                 22.Kxf7 [+wRe8] Rg8  
23.Ke6 + Ke5                24.Kd5  Kd4  
25.Ke4    Ke3                26.Kd3  Kd2  
27.Kc2    Kc1                28.Kb1  Kc2  
29.Rb3+ Kxb3 [+bRc2] 30.Rc4 Ka2  
31.Ka1   Kb1                 32.Rc1 + Ka2 ==  
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h=3*           ChameleonChess  
                    DoubleMaximummer 

Royal pawn d3 , e7 

  
Problem Online   9.7.2006 
Problem No.G0034 

  
Solution: 

1...       rPe8=rQ    2.rPd2     rQe2=rS     

3.rPd1=rS rSd4=rB =  

 

1.rPd2 rPe8=rQ 2.rPd1=rQ rQe3=rS +  

3.rQd8=rS rSd5=rB =  

   
 

 

 

 

 

 

 

 

 

 

h=14            2 solutions  
                     ChameleonChess 
                     Sentinelles 
                     DoubleMaximummer 

Royal pieces Ra5, Sb8  

  
Problem Online   18.7.2006 
Problem No.G0037 

 Solutions:   
1.rSc6=rB                   rRh5=rQ[+wPa5]  
2.rBg2=rR[+bPc6]     rQd1=rS[+wPh5]  
3.rRg8=rQ[+bPg2]    rSf2=rB  
4.rQa2=rS                  rBa7=rR[+wPf2]  
5.rSb4=rB[+bPa2]     rRh7=rQ[+wPa7]  
6.rBf8=rR[+bPb4]      rQc2=rS[+wPh7]  
7.rRxf2=rQ +              rSxb4=rB[+wPc2]  
8.rQxa7=rS[+bPf2]    rBf8=rR[+wPb4]  
9.rSb5=rB[+bPa7]      rRxf2=rQ  
10.rBa6=rR[+bPb5]    rQf8=rS[+wPf2]  
11.a1=S                       rSg6=rB  
12.Sxc2=B +               rBxc2=rR[+wPg6]  
13.g1=B                      rRc5=rQ[+wPc2]  
14.Bxf2=R                   rQxf2=rS[+wPc5] = 
 
1.rSd7=rB                   rRh5=rQ[+wPa5]  
2.rBa4=rR[+bPd7]     rQb5=rS[+wPh5]  
3.rRh4=rQ[+bPa4]    rSc7=rB[+wPb5]  
4.rQb4=rS[+bPh4]    rBh2=rR[+wPc7]  
5.rSd3=rB[+bPb4]     rRa2=rQ[+wPh2]  
6.rBh7=rR[+bPd3]     rQg8=rS[+wPa2]  
7.rRf7=rQ[+bPh7] +  rSh6=rB  
8.rQxa2=rS[+bPf7]   rBd2=rR[+wPh6] +  
9.rSc1=rB[+bPa2] + rRxa2=rQ[+wPd2]  
10.d5                         rQxd5=rS[+wPa2]  
11.rBa3=rR               rSe7=rB  
12.f5                          rBxb4=rR  
13.f4                          rRxf4=rQ  
14.h3                         rQb4=rS =  
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Series helpmate  and 
stalemate 
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sh#10           Circe 
 
Sachova skladba No.6   12.1985 
Problem No.267 

  
Solution:  

  1. Rh8 
  2. Rxh3 (Ph2) 
  3. Rxg3 (Sg1) 
  4. Re3 
  5. g3 
  6. gxh2  
  7. h1B 
  8. Bxb7 (Bf1) 
  9. Bf3 
10. Bd1 Sf3# 

 

 

 

 

 

 

 

 

 

 

 

sh#7 
position of B.Formanek  

Ivan Jarolin 50   C 31.3.2004 
Problem No. Ba42 

1st honourable mention section B 

  
Solution: 

1.Rd1  
2.Rxg1  
3.Kxh2 
4.Rh1  
5.g1R  
6.Rg3  
7.Rh3 Sg4# 
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sh=10              ChameleonCirce 
position of J.Bazlov      
              
Ivan Jarolin 50   C 31.3.2004 
Problem No. Bc16 

  
Solution: 

  1.Kb5 
  2.dxc3 (+wRa1) 
  3.c2 
  4.cxb1=B (+wRh1) 
  5.Ba2 
  6.Ka4 
  7.Ka3 
  8.Rxh1 (+wQd1) 
  9.Rh8 
10.Rd8  Kxd8 =  

 

 

 

 

 

 

 

 

 

 

 

 

sh#4                       a)Circe 
                               b)ContactGridChess  
position of Z.Masek 

Ivan Jarolin 50   C 31.3.2004 
Problem No. Ba48 

  
Solutions: 

a)Circe 
 
1.Qxc2 [+wRh1] 2.Qh7 3.Kh8 4.Bg8 Bc3 #  

b) ContactGridChess 
 
1.Bg6 2.Kf7 3.Kf6 4.Qf7 Bc3 #  
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sh#7                 ChameleonChess 
                          ParrainCirce 
                          a)diagram 
                          b)Gg5>e5 
                          c)Kd4>b8,  
                          d)Gg5>b6 
No white King 
Grasshopper g5  

18th TT Chess Composition Microweb 
C 10.10.2005 

4th Prize 

  
Solutions: 

a)diagram 
1.Kd3  
2.Kc2  
3.e1=Q  
4.Qe3=S  
5.Gxd2  
6.Kd1 [+wPe1]  
7.Sc2=B e1-e2 #  

b) bGg5>e5 
1.exf1=S  
2.Kc5 [+wQe2] 
3.Sxd2=B  
4.Kd4 [+wPe1]  
5.Bc1=R  
6.Gxe1  
7.Rc8=Q [+wPe8=wR] Re5=Q #  

c) bKd4>b8 
1.e1=B  
2.Bxd2=R  
3.Ka7 [+wPc1]  
4.Gxc1  
5.Rd8=Q [+wPc7]  

6.Qd2=S  
7.Sxf1=B c8=Q [+wQf2] #  

d) bGg5>b6 
1.Kc5  
2.Gd4  
3.exf1=R  
4.Gb6 [+wQd3]  
5.Gd4  
6.Gxd2  
7.Rf7=Q [+wPd8=wR] Rd6=Q #  
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sh#4                SentinellesPionAdvers 
Black Transmuting King 
                          a)diagram 
                          b)bKb3>g7 
                          c)bGf2>f1 

Grasshopper f2  
 
Shachmatnaja poezia No.35   3/2005 
Problem No. 2033 

  
Solutions: 

a) diagram 
1.Kb2[+wPb3]  
2.Ga2[+wPf2] 
3.Kc2[+wPb2]  
4.Kc1[+wPc2] Sd3[+bPe5] #  

b) bKb3>g7 
1.Kf6[+wPg7]  
2.Kxe5[+wPf6]  
3.Kd5[+wPe5]  
4.Kc4[+wPd5] g8=G #  

c) bGf2>f1 
1.Kb4[+wPb3]  
2.Kb5[+wPb4]  
3.Ga6  
4.Gc4[+wPa6] bxc4 #  

 

 

 

 

 

 

sh#7            ChameleonChess  
                     ParrainCirce 
                     a)diagram 
                     b) wQd7>e1 

Grasshopper d3  
 
JT "M.Grushko - 50" Tanagras  C 1.1.2006 
2nd honourable mention 

  
Solutions: 

a) diagram 
1.d1=B  
2.Bxc2=R  
3.Kg6 [+wPb2]  
4.Rxb2=Q  
5.Gh7 [+wPf6]  
6.Qxf6=S  
7.Kf7 [+wPe7] e8=Q #  

b) wQd7>e1 
1.Gd1  
2.dxe1=S  
3.Gf1 [+wQg1]  
4.Gh1  
5.Sxc2=B 
6.Gh7 [+wPc8=wB]  
7.Gb1 Bh3=R # 
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sh#8           2 solutions 
                    KoeKo 

Grasshoppers b1 c5  
Lion d5 
 
Pat a Mat No.43  12/2003 
Problem No.1144 

  
Solutions: 

1.Kb4 2.Gb5 3.Ka5 
4.Kb6 5.Ga7 6.Kb7 
7.Gb8 8.Ka8 Kc6 # 

1.Gc3 2.Kd3 3.Ge4 
4.Kc4 5.Kb4 6.Ga4 
7.Ka5 8.Ga6 Kc5 # 

 

 

 

 

 

 

 

 

 

 

 

 

sh=25           CouscousCirce 

Grasshoppers 
 
Problemesis No.36   12/2003 
Problem No. F195 

  
Solution: 

  1.Kg6 .....    8.Kb5   9.Kxa4(Ge8)  
10.Kb5 ..... 14.Kd8 15.Kxe8 
16.Kf7 .....  20.Ke3 21.Kxe2(Be8) 
22.Kd1 23.Kxc2 24.Kb1 25.Ka1 Bg6 =  
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sh=10          2 solutions  
                     EquipollentCirce 

Grasshoppers a2, b1  
 
Feenschach No.152,   7-9/2003  
Problem No.9057 

  
Solutions: 

1.Kxa2 (Ga1)   2.Kxb1  
3.Kxc2 (Pd3)   4.Kxd3 (Pe4)  
5.Kxe4 (Pf5)    6.Kxf5 (Pg6)  
7.Kg5               8.Kxg6 (Pg7)  
9.Kxg7 (Sg8) 10.Kh8 Sf6 =  

1.Kb2               2.Kxb1  
3.Kxc2 (Pd3)  4.Kxd3 (Pe4)  
5.Kxe4 (Pf5)   6.Kf4  
7.Kxf5 (Pf6)    8.Kxf6 (Pf7)  
9.Kxf7 (Sf8) 10.Ke8 Se6 = 

 

 

 

 

 

 

 

 

 

 

sd=7                 KoeKo 
position of J.Bazlov  

Ivan Jarolin 50   C 31.3.2004 
Problem No. Bc17 

  
Solution: 

  
1.Bxd4 2.Be3 3.Sf4 4.Bc1  
5.Be4   6.Bh1 7.Sg2 auto= 
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Selfmate and series 
selfmate, 
selfstalemate and 
series selfstalemate, 
help selfstalemate 
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s#7           KoeKo 
                  BlackMaximummer 
 
Problemesis No.40   VIII/2004 
Problem No. F311 

  
Solution: 

1.Kd2!  
1. ....   Bd3+ 2.Ke1 Qa2     
3.Bb2 Qd5   4.Be5 Bf1      
5.Kf2  Bc4    6.Bg3 Bf1  
7.Ke3+ Qd2 # 
1. ....   Qb5   2.Ke3 Qe2+  
3.Kd4 Qb5   4.Kc4 Qf5     
5.Kd4+ Qa5 6.Ke3 Be2+ 
7.Kf4  Qg5 # 

 

 

 

 

 

 

 

 

 

 

 

s#4             KoeKo 
                   Circe 
                   BlackMaximummer 
             a)diagram 
             b)bQe2>b5 
             c) in b)wGf3>c3 
             d) in c)bQb5>f1 
             e) in a)-wGf3 and wBf7>e3 

Grasshopper f3  

Sachova skladba No.85   X/2004 
Problem No.7294 

  
Solutions: 

a)diagram 

1.Be6 ?  
1....    Bf2  2.Sxf2 [+bBf8] + Kxf3  
3.Bf5 Bb4 4.Bd3 Be1 # 
but 
1...Qxc4 [+wSb1] ! 

1.Kd2 !  
1...        Qxc4 (+wSb1)  
2.Bh5    Ba1 
3.Sf2+   Kd5  
4.Kd3    Bd4 # 
1. …        Bf2  
2.Sd6+ Kxf3 (+wGf8)  
3.Kd3   Bc5   
4.Sf2    Be3 #  

b)bQe2>b5 

1.Sb6 ? 
1...      Qe2 2.Kd2 Qa6  
3.Sd5 Qg6 4.Kc3 Qc6 # 
but 
1...Qe8 ! 
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1.Bd5+!  
1....    Qxd5 (+wBf1)  
2.Ke2 Bg1 
3.Gd1 Bc5  
4.Sd2 Qxd2 (wSg1) # 

c) in b)wGf3>c3 

1.Sb2 ?  
1...Qe8 2.Bh5 Qxh5 [+wBf1]  
3.Kd2 Bg1 4.Se3 Qd1 # 
but 
1...Qe2 ! 

1.Se3 !  
1....       Qe8  
2.Sd6+ Kd3  
3.Sc2   Qc6  
4.Gc1   Qf3 #  

d )in c) bQb5>f1  

1.Be6 ?  
1...         Bg1 2.Kd2 Bc5  
3.Sf6 + Kf3   4.Se3 + Qd3 # 
but 
1...Qxc4 [+wSb1] ! 

 
1.Kc2 ?  
1...      Bg1 2.Kb3 Bc5  
3.Sb6 Qa6 4.Bc4 Qa2 # 
but 
1...Qxc4 [+wSb1] ! 

1.Sf2+ !  
1....     Bd4xf2 (+wSg1)  
2.Se3 Qc4  
3.Kd2 Qf1  
4.Se2 Qc1 #  
e) in a) –wGf3 & wBf7>e3 

1.Sf6 + ?  
1...     Kf5 2.Kxe2 [+bQd8] Qd5  
3.Sxd5 [+bQd8] Qg5 4.Kf3 Qg2 # 
1....... Kd3 2.Ke1 Qg4  
3.Bxf4 [+bPf7] Qd1 4.Sxe5 [+bPe7] + Bf2 # 
but 
1...Kf3 ! 

1.Kd1xe2 !(+bQd8)  
1...      Qh4 
2.Kd2 Qe1+ 
3.Bf2  Bxf2 (+wBc1) 
4.Kxe1 (+bQd8) Qd1 # 

  

s#7           KoeKo 
                  BlackMaximummer, 
                  VerticalMirrorCirce 
                  a)diagram 
                  bw)Gc5>c7 

Grasshoppers 
 
Quartz NJo.25    7-9/2004 
Problem No.559 
 
1st honorable mention 
Quarz-Fairy 2004 

  
a)diagram 

Try: 
1.Ge5 ?  
1...      cxd2 [+wGe8] 2.Gxd2 [+bPe7] Kc1  
3.Ge6 Kc2                  4.Gce4 Kc1  
5.Gd6 exd6 [+wGe8] 6.Ge3 Kd2  
7.Kd4 Kc3 # 
2...      e6                    3.Gc5 exd5 +  
4.Kxd5 [+bPe7] e5   5.Gd6 e4  
6.Gxe4 [+bPd7] Kd3 7.Ge5 Kc4 # 
but 
1… cxb2 [w Gg8] ! 

Solution: 
1.Gxc3 [+bPf7] ! 
1...      Kb1 2.Gd4 Kc2  
3.Ge5 f5    4.Gxf5 [+bPc7] Kb3 +  
5.Kb4 Kc2 6.Gdd5 Kb3  
7.Kc5 Kb4 # 
 
b) wGc5>c7  

Try: 
1.Gd6 ?  
1...      Kb1 2.Kxc3 [+bPf7] Ka2  
3.Ge5 f5    4.Gbd4 Kb3 + 5.Kb4 f4  
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6.Gxf4 [+bPc7] Ka3         7.Kc5 Kb4 # 
but 
1...cxb2 [+wGg8] ! 
 
Solution: 
1.Gxc3 [+bPf7] !  
1...      Kb1 2.Ga2 Kxa2 [+wGh8]  
3.Gg7 Kb1 4.Gd4 Kc2 5.Gc5 f6  
6.Gxf6 [+bPc7]     c6   7.Gd3 Kb3 # 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

s#6            2 solutions 
                   KoeKo 
                   BlackMaximummer 
                   a)diagram 
                   b)Be4>c2 
 
Problemesis No.42   12/2004, 
Problem No.F370 

  
Solutions: 

a)diagram 

1.Bd5 !  
1....     Kc6     2.Rc4 + Kb5  
3.Rc6 Ra6     4.Rc3    Re6  
5.Be4 Ra6     6.Kc5 + Rd6 #  

1.Ke5 !  
1...      Ra3     2.Bd5    Kc6  
3.Be4 Rf3      4.Bf5     Ra3  
5.Rd4 Re3 +  6.Kd6    Re7 #  

b) wBe4>c2 

1.Ra3 !  
1...      Rb2     2.Ba4   Rb6  
3.Kc5 Rb2     4.Bb3   Kc6  
5.Ba4 + Kd5  6.Rc3   Rb6 #  

1.Be4 !  
1...      Ra3      2.Bd5  Re3  
3.Kc5 Ra3      4.Rc4  Rd3  
5.Kb6 + Rxd5 6.Ka6  Ra5 #  
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s=5           KoeKo 
                  BlackMaximummer 
                  CirceMalefique 
                 a)diagram 
                 b)wSb2>b3 
                 c)wSb2>g1 
                 d)wSb2>c4  
  

Die Schwalbe  Heft 212   4/2005 
Problem No.12626 

  
Solutions: 

a)diagram 

1.e8=Q !  
1....                      Rxb2 [+wSb8]  
2.Rc7 +               Kxe8 [+wQd8]  
3.Bc1                  Rxb8  
4.Rd7 +               Rxd8  
5.Rd2                  Rxd2 = 

b) wSb2>b3 

1.e8=R !  
1....                      Ra2  
2.Bd8                  Rd2  
3.Sxd2 [+bRa1] Rxc1  
4.Rf8                   Rc8 
5.Bc7                  Rxf8 = 

c) wSb2>g1 

1.e8=B !  
1....                     Rb2 
2.Rc2                 Kg8 
3.Rh2                 Rxh2 + 
4.Bh5                 Rxh5 [+wBc8] + 
5.Bh6                 Rh1 = 

d) wSb>c4 

1.Rg1 !  
1....                    Rg4 
2.Bh4                Rg8 
3.e8=S              Rg2 
4.Sg7                Rxg7 [+wSb8] 
5.Rg5                Rxg5 = 
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S#5          Black Must Capture 
                 a)diagram 
                 b)wBd2>c4 
                 c)wBd2>a8  

  
Problemesis No.47   X/2005 
Problem No.F451 

  
Solutions: 

a)diagram 
 
1.Rxe5 + ?  
1...         Kxe5    2.Rd7 Rxd7 
3.b7       Rxb7   4.Bc1 Sxc1  
5.Kc4    Qxc2 #  
but 1...Sxe5 ! 

1.Kb3 ?  
1...         Kxd5   2.Rc6 Kxc6 
3.Ka2    Kxb6   4.Se1 Sxe1  
5.Ka1    Rxd2 #  
but 1...Bxc7 ! 

1.Re7 !  
1...        Rxd5 + 2.Sd4 Rxd4 
3.Bc1   Sxc1    4.Ra7 Kxe3  
5.Ra4   Rxa4 #  

1...        Kxd5    2.Rxf7 Qxf7  
3.b7     Qxb7    4.Se1 Sxe1  
5.exd4 Bxd4 #  

 
b) wBd2>c4 
 
1.Rcd7 !  
1...       Rxd5 +  2.Kd2 Rxd7 
3.Sb4  Sxb4 +  4.Kc1 Kxe3  
5.Ba2  Sxa2 #  

 
1...       Rxc4 +  2.Kb3 Rxc2  
3.Ra5  Kxe3     4.Ra2 Rxa2  
5.Rxf7 Qxf7 #  

c) wBd2>a8 
 
1...       Bxc7    2.Rg5 + Rd5  
3.Kd2  Bxb6    4.Kd1 Bxe3 
5.Rh5 Qxh5 #  

1.Rxe5 + !  
1...      Kxe5     2.Bh1 Qxh1 
3.Rc4 Rxc4 +  4.Kxd3 Rxc2  
5.e4   Qxe4 # 
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hs=7          SentinellesPionAdvers 

NoBlackKing 
   
 
Sachova skladba No.85   X/2004 
Problem No. 7295 

  
Solution: 

1.Kb8[+bPa7] a6  
2.Kc7               a5  
3.Kc6[+bPc7] a4  
4.Kc5[+bPc6] a3  
5.Kc4[+bPc5] a2  
6.Kc3[+bPc4] a1=B +  
7.Kc2[+bPc3] Bb2 = 

 

 

 

 

 

 

 

 

 

 

 

 

S#7               BlackMustCapture    
                     ChameleonChess 
   
 
Shachmatnaja poezia No.35    3/2005 
Problem No.2024 

  
Solution: 

1.Rb5=Q + !  
1.........         Rxb5=Q  
2.Rc3=Q +  Kxa6  
3.Bd4=R     Qxb7=S  
4.Ra4=Q + Sa5=B +  
5.Kb8          Kb6  
6.Qe1=S    Bxe1=R  
7.Qe8=S    Rxe8=Q # 
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SS#8            KoeKo 
                     BlackMaximummer  
                     a)diagram 
                     b)nRb6>h6 
 
 Neutral Rb6 Be1 Be6 

  
Problemesis No. 45   VI/2005, 
Problem No.F432 

  
Solutions: 

a)diagram 

1.nBa5  
2.nRb4  
3.nBb3  
4.nRf4  
5.nRf2  
6.nBe1  
7.nRf3  
8.nBg3 nBe6 #  

b) nRb6>h6 

1.Kg5  
2.nRf6  
3.nRf5  
4.Kg4  
5.nRf2  
6.Kg3  
7.Kg2 
8.nRe2 nBh3 #  

 

 

 

 

SS#8           KoeKo  
                    a)diagram 
                    b)bKc4->d2 
 
 Neutral Rc6 Bf4 Bg6 

  
Problemesis No. 45   VI/2005 
Problem No. F433 

  
Solutions: 

a)diagram 

1.nBh6  
2.nBg7  
3.nBf7  
4.nRh6  
5.nRh7  
6.nBe5  
7.Ke4  
8.Kd3 + nBg6 #  

b) bKc4>d2 

1.Ke5  
2.nBg5  
3.nRf6  
4.nRf7  
5.nRg7  
6.nBe4  
7.Kd4  
8.Kc3 + nBf6 #  
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SS#8           KoeKo 
                    a)diagram  
                    b)nBh6>f8 
                    c)bKe3>f2 
 
 Neutral Rb6 Bf7 Bh6 

Problemesis No. 45   VI/2005 
Problem No. F434 

 Solutions: 

a)diagram 

1.nRe6  
2.Ke5  
3.nRe8  
4.nBg6  
5.nBh7  
6.nRh8  
7.nBf5  
8.Kd4 + nBg7 #  

b) nBh6>f8 

1.nBe8  
2.nBc6  
3.nBd6  
4.nBc7  
5.nRb8  
6.nBb6  
7.nBa8  
8.Kf4 + nBc7 #  

c) bKe3>f2 

1.nBe3  
2.Kf4  
3.nBc5  
4.nBd5  
5.nBb7  
6.nRc6  

7.nRc7  
8.Kg3 + nBd6 #  
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SS#8           2 solutions 
                     KoeKo 

Neutral  nRc6, nBf8, nBh5 

  
Problem Online   21.10.2005 
Problem No.G0023 

  
Solutions: 

1.nBh6  
2.nBe3  
3.nRh6  
4.nBe2  
5.nBf2  
6.nBf1 
7.nBg1  
8.Kc5 + Kd5 #  
 
1.nBf7  
2.nBg7  
3.nBb3  
4.nRc2  
5.nRa2  
6.nBg8 
7.nBh8  
8.Kc3 + Kd3 # 

 

 

 

 

 

 

 

s=11           ChameleonChess  
                    DoubleMaximummer 

Royal neutral pawn h5 

  
Problem Online   9.7.2006 
Problem No.G0036 

  
Solution: 

1.nrPh6 ! threat:     2.c8=Q      Be8=R   
                                 3.Qh3=S    Re1=Q  
                                 4.Sg5=B + nrPxg5   
                                 5.nrPg6     Qe1-e8=S = 
 
1...                     Be8=R  
2.nrPh7             Re1=Q  
3.nrPh8=nrQ    nrQa1=nrS +  
4.nrSc2=nrB     nrBh7=nrR  
5.nrRh2=nrQ    nrQxc7=nrS  
6.nrSa8=nrB     nrBh1=nrR +  
7.nrRh8=nrQ    nrQa1=nrS +  
8.nrSb3=nrB     nrBg8=nrR  
9.nrRg2=nrQ    nrQa8=nrS  
10.nrSb6=nrB  nrBg1=nrR +  
11.nrRg8=nrQ nrQa2=nrS =  
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Chessproblems with 
modified chessboard 
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h#2          2 solutions  
                 b)Gd7>c1 
Ringcylinder 7x7 
 
Problemesis 24 
XII/2001, Problem No.F48 

Solutions: 

a)diagram   
 1. Roe1 Kb7 2. Gd2 Rof2#   
 1. Roc1 Kb5 2. Kc7 Rod2#   
  
b)Gd7>c1   
 1. Rod7 Ka6 2. Kc7 Roe1#   
 1. Rod2 Kc6 2. Ge1 Roe3#  

 

 

 

 

 

 

 

 

 

 

 

h#2          A:Vertikalcylinder 7x7 
                     a)diagram 
                     b)Gb7>d1 
                     c)Rod3>g6 
                 B:Ringcylinder 7x7     3 solutions 
 
Die Schwalbe  Heft 195,  6.2002 
Problem No.11517 

Solutions: 

A: Verticalcylinder board 7x7 

a)diagram  
1. Kb6  Kg5  2. Roc6 Rod3# 
 
b)Gb7>d1 
1. Rob6 Kg3 2. Gb5 Rod2# 
 
c)Rod3>g6  
1. Gg5 Ke3  2. Kg4 Rob5# 

B: Ringcylinder board 7x7  3 sol.  

1. Kb6   Kg5  2. Roc6 Rod3# 
1. Rob6 Kg3  2. Gb5   Rod2# 
1. Gg5   Ke3  2. Kg4   Rob5# 
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h#2        
Ringcylinder 7x7 
                a)diagram -1 sol. 
                b)Ge3>g7 -1 sol. 
                c)Ge3>c3 -2 sol. 
                d)Ge3>e2 -2 sol. 
 
Grasshopers d5,e3 
Roses b2,c1 
   
Problemesis 24, XII.2001, 
Problem F49 

Solutions: 

a)diagram 
1. Kd4 Gc5 2. Roc4 Roa7# 

b)Ge3>g7 
1. Roc4 Gb5+ 2. Kd4 Roc2# 

c)Ge3>c3  
1. Roc4 Gc5+ 2. Kd4 Roa7# 
1. Kd4 Gc2 2. Roc4 Rof5# 

d)Ge3>e2  
1. Roc4 Gb5+ 2. Kd4 Roc2# 
1. Kd4 Gc2 2. Roc4 Rof5#  

 

 

 

 

 

 

 

h#2          3 solutions 
Ringcylinder 8x8 
 
Grasshoppers b3,b6,e3,e5,  
Roses b1,g8 
 
Sachova skladba 73  XI.2001 
Problem No.5588 

Solutions: 

1. Roe1   Gc3     2. Gf2  Rog3# 

1. Rod2   Rog3+ 2. Kd3 Rob8# 

1. Rof2+ Kd4      2. Ge1 Rog7# 

 

 

 

 

 

 

 

 

 

 

 



CChheessss  pprroobblleemmss  --  FFaaiirryy  
 

JJaarroossllaavv  SSttuunn,,  SSnniinnaa,,  SSlloovvaakkiiaa  PPaaggee  6666  
 

 

h#2          3 solutions 
Ringcylinder 7x7 
 
Grasshoppers a6,c4 
Roses d2,g3 
 
Sachova skladba No.73  XI.2001 
Problem No.5589 

Solutions: 

1. Roe4 (a) Kd1  2. Gd3   (b) Roa2# 

1. Gd3   (b) Ge2  2. Rob2 (c)  Rod5# 

1. Rob2 (c) Gb5  2. Gc4  Roe4# (A) 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#2         2 solutions 
Ringcylinder 7x7 
 
Grasshopper d7 
Roses a3,g4 
 
Sachova skladba No.73   XI.2001 
Problem No.5590 

Solutions: 

1. Rof2  Kb1 2. Gg3 Roe3# 

1. Rog3 Ka7 2. Gf2  Rof4# 
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h#2              2 solutions 
Ringcylinder 8x8 
                     a)diagram           
                     b)Kg3>e2 
                     c)Gc6>a4 
 
Grasshoppers c6,d3,f3,f6 
Roses a1,b3 
 
Feenschach No.144   11.-12.2001 
Problem No.8592 

Solutions: 

a)diagram 
1. Gf5  Gdg6     2. Roc5  Rog2# 
1. Gc3 Gxb3     2. Gc5   Gf3# 

b)Kg3>e2 
1. Rog6 Rog2+ 2. Ke4   Gxg6# 
1. Roe5 Ge3     2. Gd4   Roa3#  

c)Gc6>a4 
1. Ke4 Rog6     2. Gd5   Gc2# 
1. Ke6 Kg2       2. Rod6 Rog6# 

 

 

 

 

 

 

 

 

 

h#2                Duplex  
Ringcylinder 7x7 
                      a)diagram 
                      b)Gf2>c3 
                      c)Rod1>d3 
                      d)Roa6>f6 
                      e)Kc7>e2 
 
Grasshoppers e4,f2 
Roses a6,d1 
 
Feenschach No.144   11.-12.2001 
Problem No.8591 

Solutions: 

a)diagram 
1. Kf6    Kd6    2. Gf7 Roa7# 
1. Ge6   Kd4    2. Kd6 Roe1# 
 
b)Gf2>c3 
1. Rod5 Kd7    2. Gd4 Rog6# 
1. Rob1 Ke6    2. Gc2 Rof3# 
 
c)Rd1>d3 
1. Rog6 Kd7   2. Kf6 Roa5# 
1. Kc6   Gd7   2. Gb7 Rof2# 
 
d)Roa6>f6 
1. Rod4 Gc4   2. Gf5 Rof7# 
1. Rod7 Kxe4 2. Kd6 Roc1# 
 
e)Kc7>e2 
1. Rof6  Ke3   2. Gf5 Roa2# 
1. Ge1   Gd7  2. Rod2 Rog1# 
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h#2             3 soutions  
Ringcylinder 8x8 
 
Grasshoppers b7c2,f2,f5,  
Roses a7,d1 
 
Feenschach 144, 11.-12.2001 
Problem No.8593  

Solution: 
1. Gf1 Kf5 2. Gc4 Gh7# 

1. Gf3 Gbg2 2. Roc3 Rog6# 

1. Gd2 Gc8 2. Roe3 Roa1# 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#2  
Ringcylinder 7x7      a)diagram  
                                   b)Ga6>b5 
                                   c)Ke4>e5 
                                   d)Ga6>b3 
Grasshopper a6 
Roses a3,g4 
 
Pat a Mat No.35   12.2001 
Problem No.321 

  
Solutions: 

a)diagram  
1. Rob5 Rob6  2. Gc6 Roa6# 

b)Ga6>b5  
1. Roa4+ Kd3 2. Kb4 Rog5# 

c)Ke4>e5  
1. Rob5+ Ke6 2. Gc4 Roa4# 

d)Ga6>b3  
1. Kb4 Kd5     2. Roa4 Rog3# 

 
          G           G 
R - Kc5 R - Kb4 
_______________  

R - Kc5 R - Kb4 
          G           G 

The mirror image of the black pieces in  
mat picture. 
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h#2          4 solutions 
Ringcylinder 8x8 
 
Grasshoppers c4,c6,g3,f6 
Roses a1,f7 
 
Die Schwalbe Heft 195    6.2002 
Problem No.11518 
 
7.Lob Informalturnier 2002 der 
Schwalbe (Marchenschach) 

Reproduction: 
Pat a Mat No.53   6.2006 
Problem No.1104  

Solutions: 

1. Ke3   Gd5   2. Ge4 Rog8# 

1. Roe5 Gc5   2. Gd4 Roc1# 

1. Ge6   Gfxf7 2. Ge3 Ge6# 

1. Rod2 Kxd2 2. Gc5 Gc6# 

 

 

 

 

 

 

 

 

 

h#2          2 solutions 
Ringcylinder 8x8 
 
Grasshoppers c4,c6,f4,g3 
Roses e7,f7 
 
Phenix No. 109   7.-8.2002 
Problem No.4103 

  
Solutions: 

1. Gd3   Roa4+ 2. Kd4    Rof1# 

1. Roc2 Ge4     2. Gb3+ Roa4# 
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h#2          2 solutions 
Ringcylinder 8x8 
                a)diagram 
                b)Rof7>b8 

unpublished correction [+b)] 
 
Grasshoppers a3,c4,f4 
Roses e7,f7 
   
Phenix No. 109    7.-8.2002  
Problem No.4103 

Solutions: 

a)diagram 
1. Gd3   Roa4+ 2. Kd4 Rof1# 
1. Roc2 Ge4     2. Gb3 Roa4# 

b)Rof7>b8 
1. Gb3   Ga2    2. Roc2 Roa6# 
1. Gd3   Gd5    2. Roc4 Roh5# 

 

 

 

 

 

 

 

 

 

 

h#2          Duplex 
Ringcylinder 7x7 
 
Grasshoppersc2,d4 
Roses d5,f5 
 
Rochade Europa No.12   11.2002 
Problem No.1846 

  
Solutions: 

1. Rod6 Kg5 2. Gf6 Rof2# 

  
 
1. Roa7 Kf4 2. Gb6 Roc7# 
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h#2          3 solutions 
Ringcylinder 7x7 
                a)diagram  
                b)Gb2>b6 
 
Grasshoppers b2,c7 
Roses d4,e1 
 
Phenix No.113   XII.2002 
Problem No. 4183 

  
Solutions: 

a)diagram 
1. Rod1 Ge2 2. Ge6   Rob1#   
1. Rod1  Kf1 2. Gc1   Roe5# 
1. Ge5    Kf1 2. Roc6 Roe2# 

b)Gb2>b6 
1. Roc6 Kf1 2. Gd6   Roe2#    
1. Roc2 Kf1 2. Gd1   Roe5# 
1. Gd1  Ge2 2. Roe6 Rob1# 

An exchange of black pieces' fields in the final 
positions.  

 

 

 

 

 

 

 

 

 

h#2          3 solutions 
Ringcylinder 8x8 
 
Grasshoppers d3,d5,g3 
Roses c6,g2 
 
Problemkiste No.145   II.2003 
Problem No.5848 

  
Solutions: 

1. Kg4  Kxg2 2. Gg5   Rog6# 

1. Ke4  Kf2    2. Roe5 Roh1# 

1. Rof4 Gd4  2. Ge5   Rod8# 
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h#3  
Verticalcylinder 7x7  
                        a)diagram 
                        b)Gb4>a2 
                        c)Be1>c4 in b) 
 
Grasshopper b4 
 
Sachova skladba No.8  V/1986 
Problem No.469  

  
Solutions: 

a)diagram 
1. Ke6 d5+ 2. Kd6  Kc4  3. Ge7 Bg3# 

b)Gb4>a2 
1. Ke4 Bd2 2. Gc2 Kxc3 3. Gf5 Bb7# 

c)Be1>c4 in b) 
1. Ke4 Bf1  2. Kd5 Kxc3 3. Ge6 Bg2# 

 

 

 

 

 

 

 

 

 

 

h#3.5          2 solutions 
Verticalcylinder 8x8 
 
Grasshoppers b8,e6 
Rose f5 
 
Sachova skladba No.74  III/2002 
Problem No.5697 
 
Commendation 
Sachova skladba 2001-2/Fairy 

Reproduction: 
Sachova skladba No.80   7.2003 
Problemesis No.35   10.2003 

Solutions: 

1. ... Roa2 2. Kc8 Kf7   3. Kd8 Gb1 4. Gc8 Roe6# 

1. ... Rog3 2. Kc6 Gd6 3. Kb7 Gh2  4. Kc8 Rod6# 
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h#2       Ringcylinder 8x8    b)Gb6>h8 
h#3 Verticalcylinder 8x8    b)Gb6>h8 
 
Feenschach No.144  11.-12.2001 
Problem No. 8594 

  
Solutions: 

A:Ringcylinder 8x8       h#2 
 
a)diagram  
1. Gb2 Ga1 2. Ga3 Roe1# 
 
b)Gb6>h8  
1. Ga3 Ga1 2. Gb2 Roe1# 

B:Verticalcylinder 8x8 h#3 
 
a)diagram 
1. Ga3   Ga7 2. Gb2 Kd3 3. Gb4 Rod2# 
 
b)Gb6>h8 
1. Ghc3 Kd3 2. Ga3 Gd2 3. Gfc3 Roh2#  

 

 

 

 

 

 

 

 

 

h#8              DUPLEX     2 solutions 
GridChess 
                     BlackMaximmummer 
                     Sentinelles 
 
Problemesis No.40  VII/2004 
Problem No. F312 

  
Solutions: 

1.Ke2-d3[+bPe2] Kb8-c7  
2.Kd3-c2[+bPd3] Kc7-d6[+wPc7]  
3.Kc2-b3[+bPc2] Kd6-e5[+wPd6]  
4.Kb3-c4[+bPb3] Ke5-d4[+wPe5]  
5.Kc4-b5[+bPc4] Kd4-e4[+wPd4]  
6.Kb5-c6[+bPb5] Ke4-f5[+wPe4]  
7.Kc6-d7[+bPc6] Kf5-g6[+wPf5]  
8.Kd7-e6[+bPd7] d4-d5 #  

1.Ke2-f3[+bPe2] Kb8-c7  
2.Kf3-g4[+bPf3]  Kc7-c6[+wPc7]  
3.Kg4-h5[+bPg4] Kc6-b6[+wPc6]  
4.Kh5-h4[+bPh5] Kb6-c5[+wPb6]  
5.Kh4-g5[+bPh4] Kc5-d4[+wPc5]  
6.Kg5-f6[+bPg5]  Kd4-e4[+wPd4]  
7.Kf6-e7[+bPf6]   Ke4-d5[+wPe4]  
8.Ke7-d6[+bPe7] e4-e5 #  

  

1.Kb8-c7 Ke2-d3[+bPe2]  
2.Kc7-b6[+wPc7] Kd3-e4[+bPd3]  
3.Kb6-c5[+wPb6] Ke4-d5[+bPe4]  
4.Kc5-b5[+wPc5] Kd5-e6[+bPd5]  
5.Kb5-b4[+wPb5] Ke6-d7[+bPe6]  
6.Kb4-c3[+wPb4] Kd7-e8[+bPd7]  
7.Kc3-b3[+wPc3] d5-d4  
8.Kb3-c4[+wPb3] d7-d5 #  
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1.Kb8-c7 Ke2-f3[+bPe2]  
2.Kc7-d6[+wPc7] Kf3-g4[+bPf3]  
3.Kd6-e5[+wPd6] Kg4-f5[+bPg4]  
4.Ke5-d5[+wPe5] Kf5-g6[+bPf5]  
5.Kd5-d4[+wPd5] Kg6-f7[+bPg6]  
6.Kd4-e3[+wPd4] Kf7-g8[+bPf7]  
7.Ke3-d3[+wPe3] f5-f4  
8.Kd3-e4[+wPd3] f7-f5 #  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#7                     BlackMaximummer  
GridChess            Sentinelles 
                           a)diagram 
                           b)Kf1>e8 
                           c)Kf1>a5 
                           d)Kc3>a5   
 
Problemesis No.40   VIII/2004 
Problem F313 

  
Solutions: 

a)diagram 
1.Kf1-g2                 Kc3-d2[+wPc3]  
2.Kg2-h3[+bPg2]  Kd2-e2[+wPd2]  
3.Kh3-h2[+bPh3]  Ke2-d3[+wPe2]  
4.Kh2-g3[+bPh2]  Kd3-c2[+wPd3]  
5.Kg3-f4[+bPg3]   Kc2-b3[+wPc2]  
6.Kf4-e5[+bPf4]    Kb3-c4[+wPb3]  
7.Ke5-d4[+bPe5]  e2-e3 #  

b) bKf1-->f8 
1.Kf8-g7                Kc3-d2[+wPc3]  
2.Kg7-f6[+bPg7]  Kd2-e3[+wPd2]  
3.g7-g5                 Ke3-d4[+wPe3]  
4.Kf6-e7[+bPf6]   Kd4-e4[+wPd4]  
5.Ke7-d6[+bPe7] Ke4-f5[+wPe4]  
6.e7-e5                 d4xe5 +  
7.Kd6xe5[+bPd6] d2-d4 #  

c) bKf1-->a5 
1.Ka5-a4[+bPa5] Kc3-d2[+wPc3]  
2.Ka4-b5[+bPa4] Kd2-e3[+wPd2]  
3.Kb5-c4[+bPb5] Ke3-e2[+wPe3]  
4.Kc4-d5[+bPc4] Ke2-f3[+wPe2]  
5.Kd5-e4[+bPd5] Kf3-g4[+wPf3]  
6.b5-b4                 Kg4-f4[+wPg4]  
7.b4xc3                 d2-d3 #  

d) wKc3-->a5 
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1.Kf1-g2                Ka5-a4[+wPa5]  
2.Kg2-f3[+bPg2]  Ka4-b5[+wPa4]  
3.Kf3-g4[+bPf3]   Kb5-b4[+wPb5]  
4.Kg4-f5[+bPg4]  Kb4-c3[+wPb4]  
5.Kf5-e4[+bPf5]   Kc3-b2[+wPc3]  
6.Ke4-d5[+bPe4] Kb2-c2[+wPb2]  
7.Kd5-c4[+bPd5] b2-b3 #  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

h#6                  DUPLEX       
GridChess       DoubleMaximummer 
                         Sentinelles 
                      a)diagram 
                      b)shift right. 
   
Sachova skladba No.86   I/2005 
Problem No.7411 

 Solutions: 

a)diagram 

1.Ke4-d5[+bPe4] Kc5-b4[+wPc5] 
2.Kd5-e6[+bPd5] Kb4-c3[+wPb4]  
3.Ke6-d7[+bPe6] Kc3-b2[+wPc3]  
4.Kd7-c6[+bPd7] Kb2-a3[+wPb2]  
5.Kc6-b5[+bPc6] Ka3-a2[+wPa3]  
6.Kb5-c4[+bPb5] b2-b3 #  

1.Kc5-b4[+wPc5] Ke4-f5[+bPe4]  
2.Kb4-c3[+wPb4] Kf5-g4[+bPf5]  
3.Kc3-d2[+wPc3] Kg4-f3[+bPg4]  
4.Kd2-e1[+wPd2] Kf3-e2[+bPf3]  
5.d2-d4                 e4xd3 ep.  
6.b4-b5                 d3-d2 #  

b)shift right  

1.Kf4-g5[+bPf4]   Kd5-c4[+wPd5]  
2.Kg5-f6[+bPg5]  Kc4-b5[+wPc4]  
3.Kf6-e7[+bPf6]   Kb5-c6[+wPb5]  
4.Ke7-d8[+bPe7] Kc6-d7[+wPc6]  
5.e7-e5                 d5xe6 ep.  
6.g5-g4                 e6-e7 #  

1.Kd5-e4[+wPd5] Kf4-g5[+bPf4]  
2.Ke4-d3[+wPe4] Kg5-f6[+bPg5]  
3.Kd3-e2[+wPd3] Kf6-g7[+bPf6]  
4.Ke2-f3[+wPe2]  Kg7-h6[+bPg7]  
5.Kf3-g4[+wPf3]   Kh6-h7[+bPh6]  
6.Kg4-f5[+wPg4]  g7-g6 #  
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h#3  
Verticalcylinder 8x8     a)diagram  
                                        b)Gf1>b1 
 
Grasshoppers c2,e5,f1 
Rose g3 
 
Die Schwalbe Heft 196   8.2002 
Problem No.11581 

  
Solutions: 

a)diagram 
1. Kf6   Kd5   2. Gf7 Rof5 3. Gg5 Roh5# 

b)Gf1>b1 
1. Gd7 Rod5 2. Kd6 Kf5   3. Gc5 Rob5# 

 

 

 

 

 

 

 

 

 

 

 

 

h#3                      
Ringcylinder 8x8      a)diagram  
                                  b)Roc5>b6 
 
Grasshoppers d4,d5,f3 
Rose c5 
 
Rochade Europa No.8   8/2002 
Problem No. 1816 

  
Solutions: 

a)diagram 
1. Gb5 Rof7   2. Gf6  Ge5 3. Gd6 Roe1# 

b)Roc5>b6 
1. Gb7+ Ke5 2. Gb5 Ga7 3. Gfb7 Roh3#  
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sh#4  
Ringcylinder 7x7 
                              a)diagram 
                              b)Ge2>d3 
                              c)Ge2>c2 
Grasshopper e2 
Roses a6, e8 
 
Phenix No.109   7-8.2002 
Problem No.4107 

  
Solutions: 

a)diagram 
1. Kf6 2. Ke5 3. Kd5 4. Roe4 Rog1# 

b)Ge2>d3 
1. Ka4 2. Kb3 3. Kc2 4. Rob3 Rob1# 

c)Ge2>c2 
1. Rof2 2. Kf6 3. Ke7 4. Ke1 Rob4# 

 

 

 

 

 

 

 

 

 

 

sh=10 
Ringcylinder 8x8 
 
Grasshoppers a4,e7 
Roses b8,d4,e3,g2 
Camel b3 
Equihopper a6 
 
Sachova skladba No.15    IX/1987 
Problem No.1152  

Reproduction: 
VI. album csl. chessproblems 1985-87 

  
Solution: 

1. cxd3 
  2. Rc4 
  3. Rc1 
  4. Rd1 
  5. Gc7 
  6. Ga1 
  7. Roh8 
  8. Qh4 
  9. Cag4 
10. Roc6+ Ka8= 
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h==4  
Ringcylinder 8x8 
 
Grasshopper a1 
Locust h4 
Roses a5,b7,b8,c4,c8,d8,f7,f1,g4,g8 
 
Sachova skladba No.13    III/1987 
Problem No.942 
 
1st honorable mention SSandSU 
Fairy"B" 1987 

Reproduction: 
VI.album csl. chessproblems 1985-87 

  
Solution: 

1. Ga4      Lob4  
2. dxe5+  Roff5+  
3. Ro7d4  Roag2+  
4. Robg6  e4 ==  

 

 

 

 

 

 

 

h#2                   2 solutions  
Verticalcylinder board 5x8  

Roses a5, d8  

Sachova skladba No.10   IX/1986  
Problem No. 676 

  
Try: 
1.Kb1 Kc3  2.Roa1 Roe4 #? because 3.Rod2 

Solutions: 

1.Roxd6 Ke3   2.Rob1 Roc4 # 
1.Ke1     Roc8 2.Roa1 Rob4 #  

 

 

 

 
 
 
 
 
 


